| 2% Mg

HE A B i e ( L) A R W]
6 8 5% f & X it

g b ol AR I

Professional air pump design. manufacturer

Al T
J

product manuals



s &

BRfeRE (LR ARAARRBERETMR~N, £FL. @it EFHEA—BOARLES Bl BATEERN, HEASR. SFAZEROEIT.
EEMHE, HRGHBSOTHOMAZHNEFES. FARTEHMAMFMZZOHEAN, BERAFRRANESRSD, BLRATERNITLBORESE.

ATE R B Tun &R ERF, SIHAREERLHNTFRENMEIR. FREBGHXBEREEE—RHERAESRE, FNFIBtOSBELK
BHRMIMA. mRELA%E, B, KEN—, FUEFRSET, MSTZNNERMN, BHELE. ERRICEZHX. REEE 150-9001
PREREEIEMRRAD. 15014001 FMEETRIEER .

RIEN—EEENAALITEESZ—, BNREAFREPOALARZEZNEZSNDOXE, BELATLTFIRZHHERL. FE “THEE, SHE
i RS, ERMATIHTE, *RRSALEABER.

“EEmE RIS SRR, U THENEABENR DL ERLEAN R RERRAE R NS, TR

B Company Information

Fenghua Transmission Equipment (Shanghai) Co., Ltd. is @ modern integrated enterprise locates in Suzhou China , with independent intellectual pro
perty rights, which intergrates its development ,design and manufacture into a whole. Company covers 10,000 square meters with three
manufacturing buildings . Committed to ring blower, side channel blower design, production & sales.

To produce the world’s most top products is our purpose .The product is adopted the fluid machine techniques imported from
Germany ,molded with .Aluminum alloy ,processed on precision CNC machine ,make it more reliable& durable. With outstanding performance and
excellent quality and superior cost efficiency , the products sell well throughout the country ,and are exported to West Urope & North America.

Staff training has always been one of the priorities , Holds “continued beyond the times” , improve the quality of all staff.

“Customer demand is our pursuit”, We sincerely welcome friends from various circles at home and abroad come to visit .Meanwhile , we
await for you to co-create the brilliant .



FEFEAY B % e (L) A7 B2 )
6 8 & W 4 X 3

AR R ouines
]

n SEHS
CAUAZA. FrineH. RN

Credit, innovation, achieve

“win—win”

LI 5920
LU RE—M5 B, AR &R
Top quality , your best choice

m OREAAS
. Hs. 8. 3N

Rigarous, unity, dedication, progress

" AARE

EFPHRRMEZRINER

Customer demsnd is our pursuit




T

4 e

B  conTeENTSs

SR TIERIEE  Gas ring pump working principle 1
SIHRBGWBARMTHE Gas ring pump structure and decomposition - . 2
PRI RS Product features and advantages ) 37
SIRIERSE LEMIE product selection of reference and schedule - - . 8-12
2PB-1AC R5iERISH, ek, R 2PB -1AC series product selection parameters, curve. size 13-16
2PB2-3AC Z 5| xB&%, phzk. [R~T 2PB2 -34c series product selection parameters, curve, size 17-20
2PB3-3AC 5 kRIS, #hik., R~T 2PB3-3aAC series product selection parameters, curve, size 24.24
2PB4-3AC ZFERI SR, #hik, Rt 2PB4 -34C series product selection parameters , curve , size 25-28
2PB5-3AC 5 xRIS8, k. R~ 2PBs5-3aCseries product selection parameters. curve . size 29.32
2PB6-3AC A%5)ixBISH, iz, T 2PB6-3AC series product selection parameters, curve, size 33-36
2PB7-3AC Z5IER S, ik, R 2PB7-3AC series product selection parameters, curve, size 37-42
2PB8-3AC Z 3k B84, fdhik, R~T 2PB8-3AC series product selection parameters. curve, size 43-48




FENEAE T 3% fl ( 1) AT B2
f 8 % B & X #

2PB9-3AC R7EESH, Hhik, R~I 2P89 -3aC series product selection parameters. curve. size 49-54
4PB-1AC E7 S ENILEREISH, BhZk 4PB series of selection parameters. high pressure fan curve. size 55.56
4PB-3AC RY S ENVIER S, #hik 4PB series of selection parameters. high pressure fan curve. size 57-64
2PB (213/223) R 122524, #iZe 2PB (213/223) pump selection parameters. curve 65-66
2PB (233/413) R 2885, Bhzk 2pB (213/223) pump selection parameters. curve 67-68
2PB (423/433)aZ E8S 8, Bizk 2pP8(213/223) pump selection parameters. curve 69-70
2PB (513/523) 6 Z 1 E2S 8, Bk 2pPB(213/223) pump selection parameters. curve 71-72
2PB (533/613) R x2S 8, Mk 2PB (213/223) pump selection parameters. curve 73-74
2PB (713/723) &R E8S ., Bhzk 2pB(213/223) pump selection parameters. curve 75-76
2PB (733) femiEREISH, Mtk 2rB (213/223) pump selection parameters. curve 77-78
2PB RFIEFE LERST 2P8 series pump instailation size. 79-80

SHEITWERD| industry application case 81-84




SHAETEFER

Operating Principle

(liE i Side Channel (2

M3 Impeller 3
S0 Outlet 4)
#HS O Outlet D,

SERFHREZERERTEENRE T L RE2HTEMESR, ATRMREEESREI FIANEIFERANEET  tAEBRIBHRAT
R S,

SEERSO1RA | BEEAMNBEE2 LG , EEHE 3 gL 0 LaSE—PNEERN M EBODESE[INNERE 2 #EM.

PR AEFE BURETT | SEMZIAEHEIN , A MBENSEEDE— SN, BEEMNBEEHOER  SERFEHHFBEITHOEFSE 4 8

R,

The impellers are mounted directly on the motor shaft for noncontact compression entirely without friction.Maximum operational reliability, even at

high differential is ensured by the arrangement of the bearings outside the compression chamber.




AR AN B % L) AT B2y ]
7 8 & M & X #

SHEARSGHE

Vacuum pump chart i ~6

001 | = pump cover 011 | FEEE base 021 | 85 washer 005-2 | 48] screw

002 | ME impeiier 012 | 48$T screw 022 | k#E circlip 010-1 | SEEZRE mesh enclosure

003 | ®¥k pump casing 013 | % FEHR pressure-piate 023 | 0 BFESE o-ring 010-2 | SEE B4R soundproof sponge
004 | EB#15:TF rotator 014 | #& screw 024 | B¥F hand ring 010-3 | 88T screw

005 | BBHL motor 015 | EERE fixing base 025 | 3RBEEE wrap ring 011-1 | 82§T screw

006 | EBHLEE motor cover 016 | #3F  felt ring 001-1 | 88§T screw 011-2 | 88¢] screw

007 | KMt fan M7 | kE  oifseal 001-2 | 98%] screw 012-1 | 3 lock washer

008 | X& fan cover 018 | #pE  screw 004-1 | FE flat key

009 | REHE paper pad 019 | SBESREBR ware washer 004-2 | £ flat key \
010 | EEE Muffle Tube 020 |3 oif seal 005-1 | 48§T screw Tt s




S ]

Features and advantages

Using some of the imported parts, lengthen service life

o HERAMRESS IKMEFRE, TalFrmL
TEVIHIIN L i, RIEAS S Cu e 1.2

The shell adopts the high quality aluminum alloy one-time die-casting molding, machining parts

Completed in the cutting process, ensure the accuracy improvement of traditional technology

o MWK AT BRI, ERIE L
127 ah iR i 20%

The design of the impeller through the accurate calculation of argumentation, the performance under the same power ratio

Similar products increased by 20%



FF HEAEBh 3 e ( Fife) A7 B2 )
a & B M & X #

& B8 1R %

The performance advantages

100%7Ci, FKESE, MAMNSTESRENNA PS5 BIBiIRER, F R4E%

I (50/60HZ) REBE e E/LFIEF EAMXHNBESR, BANEIR, BARESNLIIERE, BT EBITAFESRMERAS
SIHTMERFFR S, LLATEENEMMESEARILIESE 300% , HRESREENMEFHESFEARLD SAEEEZRZEROEDRE
e, HERAEFEERE, REWRA, AR, RARSE, BXHEOBBINENINE, REBESRR, SERBELHIFRLE
PR FENE, BSFESEMERR, KA PROE, UG , CAD FBRREHENEHREMEENENIMEEER

100% oil free compressed gas, water ring vacuum pump, motor, all are the protection class IP55, class F insulation

dual frequency (50/60HZ) and wide voltage can meet almost all regions of the world the voltage level, the extemal design of the bearing,
can bear high working temperature, improves the reliability and service life

the introduction of variable frequency drive new concept, than the maximum performance can be driven by a common motor is improved
to 300%, impeller and pump body seal forms the unique reduced pressure gas pressure loss in the process of compression

pump casing, impeller die-casting molding, sturdiness and durability, excellent heat dissipation, imported Japan Germany, precision
machine tool cutting, ensure the accuracy and quality, air pump through the surface of protective paint processing

products through the strict mechanical, electrical performance test, simulation demonstrate the use of PROE, UG, CAD and other

computer aided design software and motion



¥ HE

AEFE ZEHEER

Specifications complete, famous all over the world

B ZE 100 SMNARESTHEESMRANAMNER, RARBERIA (50/60HZ) B, BHFFR PS5 (B%FRF K, EHFAEM
7, MAUNBRBFEZR. FEXREERM. i, FEL, EEREOEIAZELE, RIMEEFN” &AM EENTEK.

B as many as 100 kinds of products can meet your specific application of various requirements, with wide voltage frequency (50/60HZ) motor,
protection class IP55 (class F insulation), anywhere in the world, can be applied to wind morale ring vacuum pump. whatever in Europe, Middle

East, Southeast Asia, can be delivered in a very short period of time, our volume inventory of products can meet your needs.

THES BB

variable frequency drive energy efficiency

B SESRREEE FEERE TR, B SNESHESRE. EENTUETENRMGEESRBINSK. 2R THERNE
HRZDRERREREMERI S, NMERF/IMNSEHRE, BERZESITERAKRIK.
B directly when installing a variable frequency motor or the control cabinet, the gas ring vacuum pump, compressor of the same type can handle

more traffic in energy saving at the same time. This is because always precise control system to provide accurate power you need, so as to

prevent additional gas consumption, the system running cost greatly reduced.



S PR B 3% ( it ) AT B2 ]
a8 | % M & X

REMREFTA

Flexible installation

B feREfEERE, RAEARY, XERERERTZ=EAZKRNLZEREA

B can be mounted in any direction, without any restrictions, which means that reduces the space requirements and installation costs

LHEHHEREE

Total quality management

mJRiE 1809001: 2000 BYFnE, RRERENEAFREMESE—, AEPEE LR, £7 TR2LEBUEABERFEXF, RINSREHELRETN. BRE
TERSHANAGERS. ~RlRAESIHT RS EASREREFT . ATHRIETROERE, N=RiNiTaiE 28 TRTEEE~ET
FHHAREERSMERE. XTRSFPERGHFSEXOOENE, B 1S9001 IAE, HELHFHER. FRRID BN, ONFEFZFL, HHEA
B AERNGEFLAENFH~m-

according to the standard of ISO9001:2000, wind, always put the quality and customer satisfaction in the first place, from the initial design,
development, production, order processing and subsequent customer support, we will always provide you the best service, system throughout
the product cycle. Technology progress and market success of wind and products with its high quality is inseparable. In order to guarantee the
high quality of products, from product design to delivery, wind, have been established for the reliable quality of each link of supervision to ensure
production system. The quality assurance system in conformity with the agreed standards, and through the ISO3001 certification, to meet the
requirements of the world. Also welcome OEM, ODM set product development, new product usage requirements and situations develop
satisfactory.



B REEFEWA4IPB SIFAZREMESIX 1, 000mbar FEE TESTREEANSARNER. BUEER, EFEEERENREERERLRND
4PB FREEA, BREES, MASHER. I#E, RTHARRS, TERFIXERIIN, HNDO B TEEETANEFGTEA . FMNOTERMRITE
MTEHETHB DU ERNO =BG EMEES. 4B STASREATENEFOFETEZ TIE 20, 000 )b,

B our revolutionary 4PB gas ring vacuum pumps can generate up to 1000mbar of differential pressure -- -- far higher than any other of the gas
piston compressor. At present, the other system can produce pressure range than our 4PB volume larger, more noise, and easy to wear. Now, in
addition to having low noise, no wear etc. these advantages, our 4PB can alsc be used in more severe conditions. Our engineers and designers
are trying to make our products become more quiet. 4PB gas ring vacuum pump can work continuously for 20000 hours without downtime

maintenance conditions.




S HEAN B %l (i) A7 2 )
8 5 B & X 3

How to select model




T

B e

demonstration of the type

8 2 1.0 H 06 He: =48 three-phase A 220-240V /Y345-415V
T TTT ITT H7: =48 three-phase A 345-415V/ Y600-720V
Al: B single-phase 220-240V
vo: E48 single-phase 115-230V
LSS  The motor sequence number

0: fEEZRE Any installation mode 3: FTH L Vertical installation

1: BMHE Single impeller 2: WHEE Double impeller

3: BEAHRE Singleimpeller Large flow 4: WEGARE Double impeller Large flow
5: =k Three impeller

T Y (RS The product serial number

2PB: HR[E X4 Pressure fan 4PB: = £ XA high pressure positive blower

@ytENDZLIBRES (BERT) AEEMSENEE. AIBERILSEAEX
Absolute pressure in vacuum (absolute pressure is zero) as the reference and the measured values obtained. So the pressure is greater than the

reference value



S HE AN B a3 fha (1) 47 B2y )
7 | % M & X i

REZESTIHREASENNRNEE. BLAREASAEE, RILSFNEES2EEEER
Gauge pressure is that measurement is higher than the standard atmospheric pressure value. The standard atmosphere for reference, so the

actual measured value is larger than the reference value

EZEZERTREXSEAONEE. MEEENAFEXRSE, FLSEFEUNSE )
The vacuum is that measurement is lower than standard atmospheric pressure value.Measurement benchmark is still the standard atmospheric

pressure, so the actualmeasured value

Pa 0.0 mbar

hpa 1.0 mbar
[/min 0. 06 m'/h kpa 10. 0 mbar
gal/min 0. 227 m'/h mmH20 {mmAq) 0. 098 mbar
f£°/min (cfm) 1. 699 m'/h mH20 98. 07 mbar
m/h 16. 667 I/min at 980.7 mbar
m/h 4, 403 gal /min inchHZ0 2. 491 mbar
m'/h 0. 588 ft'/min{cfm) PSI|pdf/in2 68. 948 mbar




1.

Selection and use of knowledge

DIN VDE 0105 BLIGC 364 HE, FHBARFBMNEBRRRENTIE.

BRAR RIEE XRLOTASERPAR. £IMRB\EENIEUL 28, HXRENMRERNBEAMHENXTRFERLENTE, FREZIRIEED
BREHRBUENFATEEE. FLENEGSRIR, ABEXNESKILE.

DIN VDE 0105 or IGC 364 regulations, non qualified personnel shall not be engaged in electrical equipment work. Qualified personnel: refers to
the factory safety responsible person authorized personnel. According to their own training, experience, knowledge and ability related standards
on prevention of accidents to complete a necessary work, and to realize the potential The risk and take the necessary preventive measures.

It is necessary to life first aid knowledge, familiar with the life rescue equipment related.

MREMRORERPEFTEREMESRE2RNFARER, LHATELS—WTENRE, RIEREFSIXBERE]. BEXEREFRRABEEILER
ARERBEIFIRFHNLE2EE. AHELREF T, IRAZCROFASE, REHEXBRESRE FRELTRIOEFRBFMINS, BKRZE]-
Came with the equipment operating instructions may not contain detailed information all of the factors related, in particular, can not

put every possible installation, are related to the operation and maintenance of way. The manual includes only can let the qualification Information
necessary for correct operation personnel of machines or equipment. Therefore, it is necessary to clarify, if lack of detailed parameters of

products, or related questions, please according to the type of equipment and processing code for this product, contact us

% BHFFADIN EN 60 034/DIN 1EC 34-1 Foff, BEFHF.
Tolerance standard: motor meets the standard of DIN EN 60 034/DIN IEC 34-1, insulation class F.



SF FEAS Bh o (L) A7 PR 2 ]
6 8 5% M & X #

4. FREMEE, ERECHMZHRENR, BNETRELRENFHXEAR, ZAESESE, HMES, STHERENSR. LEMNEHERER, TR
FHEEM, DEERFNFRIETSNMRERILACINS.
in the selection of attention when, according to the specific circumstances ofthe scene, is focused on the flow or pressure and other
related factors, choose the most suitable, cost-effective, the energy is saved. The use of pressure release valve, filter when necessary And other

auxiliary parts, in order to better play the performance of equipment and matching field.

5. BRIFEBESEEREEHERR. BE, IRTTESEN, ZFAR/EESR, BEREFHFEERSIZER, RRERBERIPE/REEHFZEETE
REFEEN, EFR. B3, BHRENESR
Start up and ready to check the fastener without loosening, shed off 5 before the start, shell not deformation dislocation, intact / wiring, power supply
voltage, meet the requirement /shell grounding, installation of leakage protector/check the shift motors Ensure normal operation should be

smooth, vibration, noise, temperature rise were normal

6. [|FEEEFIETS, MEUMRSRERA. KU, kX, BEFEASKZEVNE R TRE, SEPEEHRERBEER
pump during operation, such as noise, vibration, increase the abnormal increase of screaming, abnormal temperature rise should be cut off the

power supply immediately checked, troubleshooting to be re energized.

MRESREFEREENFA N HITREERR)!

No air pump in a connection pipeline of start power!

FERHESORMEEE, SIURARERE!

No inlet using hard links, must use soft connection!



T

B B

2PB2 /1AC (B, WP SHEDRB SRS HE (1P55 50/60HZ)

2PB2 [1AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

mEEE | WE | EE | oE HUE 3 HPR IR Ry EHE
Model single | frequency | power voltage current |Max airflow | rated Vacuum | rated compress | noises | Weight
double HZ KW v A m3/h mbar mbar dB(A) Kg
50 0.4 220-240V 2.7 S0 120 130 53
210 All 10
. 60 0.5 220-240V 3.2 98 -150 160 56
50 0.7 220-240V 4.5 88 —210 240 55
220 A1l P4 - - 16
60 0.83 220-240V h.6 103 250 250 61
I 2eTa I D) —
salh At & 5.0 0.4 320 24QV 2:T 100 110 110 54 11
60 0.5 220-240V 3.0 120 130 140 b7
50 0. 55 220-240V 3.7 95 —-120 130 57
310 A01 == _ 13
60 0.62 220-240V 4.9 110 -120 130 60
_— B 50 0.7 220-240V 4.8 100 150 150 55 14
60 0.8 220-240V 4.1 120 -150 160 57
o % a0 1.3 220-240V D 120 —240 22?0 A8 17
60 1.5 220-240V 8.3 145 —230 260 60
H0 0.7 220-240V 4.8 145 -100 100 56
330 A1l
= 60 0.8 220-240V 4.1 165 -110 100 58 L3
T b4 50 0.7 220-240V 4.5 145 -120 120 63 15
60 0.83 220-240V 5.6 175 —130 130 64
50 0.85 220-240V 5 145 -160 160 63 _
410 A1l 16
& 60 0.95 220-240V 5.8 175 -160 160 64 ?
410 A1 o 50 1.3 220-240V T 145 -170 200 63 17
60 | 220-240V 7.8 175 -210 220 64
. 50 1.3 220-240V 7.5 150 —-2h5 255 66 o
2 el A 60 1.5 220-240V 8 180 —200 280 69 o




FF A Bh 5% (i) AT PR 2 )
f 8% 85 M & X

2PB2 /1AC (8. WP EFRBRVSRMEESHE (IP55 50/60H2)

2PB2 /1AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

HE LASESE K ;e b iz =5
I = (2PB) ¢ ] ME h¥E HE L HR R HEEA SRS
Hodsl gingle | frequency | power voltage current | Max airflow | rated Vacuum | rated campress noises Weight
double HZ KW v A n3/h mbar mbar dB(4) Kg
50 1.5 220-240v 9 150 —260 260 66
4
2 Ml e 60 1. 75 220-240V 9.5 180 =300 290 69 oA
50 7.2 220-240V 10 150 -265 265 66
31
20 @it » 60 2. bh 220-240V 11 180 310 300 69
50 0.85 220-240V 5 2 180 -100 110 64
& Al A 60 0.95 220-240V 5.8 210 -100 110 66 9
50 1.3 220-240V 7.3 180 =150 140 64
430 A2 A 60 1.5 220-240V 8.3 210 -140 130 66 L4
50 0. 85 220-240V 5 210 -160 160 64
20
kRl - 60 0.85 220-240V 5.8 255 -145 140 70
50 1.3 220-240V 7.3 210 -170 170 64
all Aol - 60 )5 220-240V 7.5 255 =150 140 70 a2z
50 1.5 220-240V 9 210 -200 190 64
All Akl 5 60 1.75 220-240vV 9.5 2h5 220 210 70 24
50 2.2 220-240V 10 210 220 210 64
26
S R 5 60 2.-5bb 220-240V 11 255 -240 230 70
50 1.5 220-240V 10. 4 270 -150 140 65
26
= B ® 60 1. 75 220240V 11 2 330 -120 110 71
50 2.2 220-240V 10 270 -230 250 64
610 ALl = 60 2. 55 220-240V 11 315 250 270 70 %0
710 ALl % 50 2.2 220-240V 12. 8 318 -190 180 72 -
60 2.55 220-240V 12. 8 376 -190 200 74




T

e

2PB2 W3 Eae%BhEk 1AC /Vacuum compression type curve

Vacuum Selection diagram 50 Hz—HZFERIER 50 Hz Compressor Selection Diagram 50 Hz—[E4gi%%IE5E 50 Hz
I :%.?f? 40 L 2D 2“?%
300 Ll 4ol %
2 250 2 CRINE i N 250
- T ?’igf{o el Tl | [ TS
"2 200 s - rpesd ct; ~=08 0T o - 200
: 150 s Lt T LT T | P98 o T Tz, 150
S 100 il Ig"::"’"ﬁ'-éréf.f 1228350 é‘&.ﬂ%ﬂﬂ_:"“%aﬁ Ny g ot o ' m—
g UL I L) g I D T . et
= 50 f-L’%’ af - E.ﬁf_.ia _-.--"'“‘__r__:;d— E_B—z"’ ‘“-‘-E-Fiﬁ_g1 "“—:_____:-: .o.ﬁ'jﬁ i ‘}J.&z i
b g 2 o=t R | | Ogfa | | T T TTef 0
' |
300 250 200 150 100 50 0 50 100 150 200 250 300 mbar
‘Vacuum (A2/ 5 /E) Total pressure differenceA p/Z/E£Ap Vacuum[fi?fififi].p

400 400
{ BT S0l leby | o
1. A > Z
#2300 | . S ah3V LPRITL | 500
P - L-1"1 _L- =1 - "‘-~&Q-‘H H"""--.._
¥ 250 | LT 4101l 26 ~ T e
P 2PB= 910 =y =
= 200 ot 1 D <PR4 o L3 | Ty A 200
2 2|58 411 T‘ BT L} ”é'%f O [RPBI | [Tl lsl B
S 150 S LG 10.05 L1 o0Be EI30 T~ b b5 T ~13h 75 150
= Lot T s| L+ T |1+ 1 Slgﬁ gP B3 1 o T~lo ?,-..._ (|5 Tt ——12.155
= = = A e oR- < > i ' 100
E 190 2355 g_% -1 1a L1971 ~00L | T losagls
a 50 | R P A 2= e — = 50
0 | 0,( 5 l)o 5 | 0
300 250 200 150 100 50 0 50 100 150 200 250 300 wbar
Vacuum (L% / i /%) Total pressure differenceA p/Z/EXAp Vacuum (£ 4 / £ /&)

e



e M 408 B 28 00 1 ) A7 L2
G OB B M & %

2PB2 R E4g%RhZR 1AC /Vacuum compression type curve

e R mmmma

Vacuum Selection diagram 50 Hz—RFERIEFE 50 Hz Compressor Selection Diagram 50 Hz—JE4EERIEE 50 Hz

250 | .- | - 250

I m'/h | m'/h

< 420! 2PB4bq

2 1801 oRBAZY <LBd2g 150

2 L - opeal S T 2Py L L | | 6

s | | | LT PP | | eedo| |2Pe2tg—l | | | | Taeped [ [T T

L 18 olg=1l PT | [0JAl 4T : ' TR0 0-[8 =0 =i fa[ 20

3 0 . 13 | o ‘ 0.4 (1.1 | 0
300 250 200 150 100 50 0 50 100 150 200 250 300 mber
ot Vacuum (L% / §{ =) Total pressure differenced p/ EZ/E£Ap Vacuum ( Ei’?%‘,-"i!iL

Vacuum Selection diagram 60 Hz—HEFEXIEE 60 Hz Compressor Selection Diagram 60 Hz—E45 R EAR

b 20T | | | Tan
» — 1 ] PRt | 150
F’ 1 50 i =T x5 A {=] — ™ - :..., = et |
-;:_ I 00 1. ?5 - "_"L 11711 .E:P:B‘:'T_ = | B — 1 "‘-g?:“'-._ | 2D :?':h -‘_--—-’-_-_""-"——-__.____ 1 \75 I 00
3 113 I == s 7 = SO
” 'S Lo RSP | | e anme N ANCE RN =0 m—
5 501 . . | — 50
r;‘: 0 = l_ 4o & R b B B B B . _.T d _‘-1 £ _.-._D__% LR L R T .._J._... Rk .J.__ L } o I T - E 5 [N L_ L | " R - P [ - - _O

30 250 200 150 100 50 0 50 100 150 200 250 300 wbar

Vacuum (jL 2/ 5 /%) Total pressure differenceA p/ ¥ /2 £Ap Vacuum (/£ 43/ EJE)

g Ere—



T

2k

2PB2/3AC (B, RP) SHEZFRSEMESHF= (IP55 50/60HZ)
2PB2 /3AC (Single, double impeller ) Gas ring vacuum pump models and the performance parameters fable (I1P55 50/60HZ)

g LS BX e e
8 5 : wmE | ER
(2PB2 34C) R i Tha e Bk Hi e LI HeR 78 HEE) E4iE )
Model single | frequency | power voltage current Max airflow | ratedVacuum | rated compress noises | Weight
ode double HZ KW v A m3/h mbar mbar dB(A) Kg
50 0.4 200-240 A 345-415Y 2.6 A/1.5Y 80 -120 130 53 10
2PB 210 H16 [
60 0.5 220-275 A 380-480Y 2. 6A7/1.5Y 98 =150 160 a6
. 50 0.4 200-240 A 345-415Y 2.6 A/1.5Y 105 -120 130 o4 11
2PB 230 H16 =)
60 0.5 220-275 A 380-480Y 2.6 A/1.5Y 120 -150 160 a7
50 0.7 200-240 A 345-415Y 3.8A/2.2Y 105 =120 140 54 12
2PB 230 H26 L::1 :
60 0.83 220-275A 380-480Y 3.8A/2.2Y 120 -160 180 57
50 0.7 200-240 A 345-415Y 3.8A/2.2 85 -210 240 53] 15
2PB 220 H26 A
60 0.83 220-275 A 380-480Y 8. 7HA./2. 15Y 102 -250 250 61




FF FE AN B % i ( 1) A7 B2 )
8 5 B & X

2PB2 N E4RiEBEhER 3AC / Vacuum compression type curve
P e S )

Vacuum Selection diagram 50 Hz—RFEZEE 50 Hz Compressor Selection Diagram 50 He—E4EEBEFE 50 He
120 120
| 100 2R 100
e . ;
< 80 5 80
Loy >
g MBS NN
= 60 CyXaa 759 <7 O~0 25Q_\ 60
2 40 b BT Vi o ] O 40
o |- r e
: % N TS i A g
5§ 20 07| . 440. 797 G i ‘65 4 70. 7
: 0 ; . 0
2 30Qmbar 240 180 120 60 0 60 120 180 240 300 mbar
Vacuum (i / i &) Total pressure differenced p/Z /R %£Ap Vacuum (J& 45 / iF /&)
% o=
Vacuum Selection diagram 60 Hz—HFRAER 60 Hz Compressor Selection Diagram 60 Hz—H4FiRTEE 60 Hz
150 150
I m'/h m’/h
w120 o 120
? P | e
< 90 | =S 90
2 1L+ 40 || 55 2PB
5 020 502 T R i s 20
S 60 220 — o LA = _—"""'---....,___ 0. 83 60
S 30 %J -—Z”EB/ 0.5 _;‘/—OG/Z—Q E\Ebtb\\_‘o 5] T 30
5 D. B3 A |
5 0 b. é’a % 2] 0. ,0. 83 b
% 300mbar 240 180 120 60 0 60 120 180 240 300 mbar

Vacuum (A5 / i JE) Total pressure differenced p/ & /E£Ap Vacuum (/& 45/ iE /%)



T

B HE

2PB2 %ﬁﬁﬁﬂff / Single stage mounting dimensions

210/230

VV1 G— Y x GC—=
. \ VVT /D
VT N 25
l_ . YxZ / -
2 o
=
I — .| M [ N
P >
4 ) (S V!
| S 120°
N M—- =N M-
2PB 246|247 5|230 92 | 128 83 |108| 75 39 | 61, | 64| 10| 3 [W6x17 5 5| M6x15 | 0° /120° /240° [ 140
2PB 246|247 230 135128 83 |108| 75 39 | G1,,.. | 64| 10| 3 [M6x19 5 5| M6x15 [ 0° /120° /240° | 140
2PB 246 | 247 230 102|128 83 |108| 75 39 | G1...|64] 10| 3 [Mex21 5 5| M6x15 | 0° /120° /240° | 140
2PB 246 | 247 230 135128 83 |108| 75 30 |61, |64[10] 3 |Mex22 B 5| M6x15 | 0° /120° /240° | 140
2PB 246|247 230 135128 83 |108| 75 39 | G1.,. | 64] 10| 3 [M6x23 .5 5| M6x15 | 0° /120° /240° | 140
2PB 246|247 230 135|128 83 |108| 75 39 | 61... | 64| 10| 3 [M6x20 5M25x1. 5 M6x15 | 0° /120° /240° | 140
2PB 246|247 230 135] 128 83 |108| 75 39 |c1,,|e4|10] 3 |Mex25 5|M25x1. 5 M6x15 | 0°/120° /240° | 140]




FEHEA B % i ( i) AT B2 )
f & 58 M & X i

M_ﬁﬁﬁﬁﬂ / Two stage mounting dimensions

220

V7 32 G—
\\ “-’J \;\{g I\."’ '\‘u"a % 1
: o ,{ vl r 0
/——L o \
o a /¢ N\
»‘.\ | P I; / v X "'.
{ él . k- F
A \ = ( ‘&pﬁi\ | |z oF |
N ) . s BE . s "._ 4 Y
\ 3 x-\’( . G\\‘_l_/:): . ,} o\ S\.‘
> \ ) O \_;) —
L e ~TY </ | 2. /
\ { | L_T_._. h W \'\.\ oy //
s 8 ;é\l\ |— 1 \‘h""‘h— -I — “/
1 ]
p 1 BN \] K \f
— | | —= F -
b

§R| S ‘ I ‘ U Y(~) |V (~) | V1(3~) ’”-,'1' (3~) ‘.:r

2PB 220-H26 (3~ [ 284 | 316 | 270 | 45 | 205 (230 [ 316 [ 135 [ 128 | 106 ) 111 ) 83 | 108 | 75 130 | 39 [G1.,[ 64 | 10 |2.5] 88 IBxlT N25x1.5 | M16x1.5 [27° | 140 [W6x1S | S1° /171" /291"




T

#t FE

2PB3 /3AC (88, NP SHRSBERSEEESHSE (1P55 50/60HZ)

2PB3 /3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (1P55 50/60HZ)
s B k8% BX e e .- 8
%) X% Bi& Th& HEHRE WisE L FRB HEEN K45 K7
B single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noises | Weight
e
double HZ KW v A m3/h mbar mbar dB(4) Kg
50 0.55 | 200-2404A 34h-415Y 2.8A/1.6Y 100 -110 120 53
2PB 310 HO6 B 11
60 0.63 | 220-275A 380-480Y 3:04 /1. 7Y 120 -110 120 57
50 0.7 200-240 A 345-415Y 3.8A/2.2Y 100 -150 150 55
2PB 310 H16 <) 12
60 0.83 | 220-270A 380-480Y 3.8A/2.2Y 120 -150 140 57
20 0.25 200-240 & 345-410Y 2.8A/1.6Y 140 -60 60 a6
2PB 330 HO6 B 12
60 0.63 220-275 A 380-480Y 3.046 /1. 7Y 165 =20 50 58
50 0.7 200-240 A 345-415Y 3.8A/2.2Y 140 -100 100 56
2PB 330 Hie H 13
60 0.83 | 220-275A 380-480Y 3.8A/2.2Y 165 -115 100 58
20 0.85 200-240 A 345-415Y 4.2A /2. 4Y 110 -200 230 38
2PB 320 H26 R4t 17
60 0.95 220-275 A 380-480Y 4.0A /2.3Y 130 -240 240 60
a0 1.3 200-240 A 345-415Y 5.TA /3.3Y 110 -280 290 58
2PB 320 H36 by 18
60 1.5 220-275 A 380-480Y 6.0A /3.5Y 130 -300 400 60




SF FEAE W 5% M0 (i) A7 PR 2 W]
f 8 &% B & X i

2PB3 REEFRiEBIghE: 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz—HE T %R ER 50 Hz Compressor Selection Diagram 50 Hz—E4E%ETIEF#E 50 Hz
150 150
m‘/h ‘399’/ %', or'/h
120 " = 120

- 59 Z — 8.55| 2pf
2 V= e i \‘\\f“ka 9%
50 j;f,g 0. 1!// % 6 [ -
p.sg_—+— ?;05; "\ DE""--\__LJB

30 —= Q,;-/ Fa - 30

1.3 0.7 - :
o041 - 0
300mar 240 180 120 60 0 60 120 180 240 300 mbar

Vacuum (.72 / i /&) Total pressure differenced p/&/E £Ap Vacuum (/£ % /£ /E)

Vacuum Selection diagram 60 Hz—RFEEIEFE 60 Hz Compressor Celetion Diagram 60 Hz—HE#EHEF 60 Hz

180 180

I m'/h 199 iu'.’h

1 150 i = 50

< 120 ojsag”| | R 120

= S| RN

E 90 ‘.—.QL’L3~;7TZ£3‘" % ) mz_? 90

2 ofes |4 |0' 1A 7o 0. 5~—1__|

- : 0”&

2 30 o | 0.l83 30

& 5 0

500 mbar 400 300 200 100 0 100 200 300 400 500 shar
Vacuum (& %/ i /&) Total pressure differencel p/ /= EAp Vacuum (55 f E£)

i — i




2PB3 ﬁ-ﬁ?&ﬁﬁfr / Single stage mounting dimensions

310/330

A
| VV1 G— Y x " r—G—
r T\ VAYAR /D/
V'VT :
F ! YxZ %—
o
| P [ C;‘[______________ Q“r
>
H‘J
| | /]
L] 5 o g |- = v
. — = il
N | 2] | | 120°
N M—= =—N K M-~
D F
E
2PB 310-HO6 |3~ [268(272]| 93 |205| 2 |260| 92 [141(101(83|108| 82 |69| 41 | G1,,, |64 |10| 3 [M6x1T M25x1. 5|M16x1. 5| M6x15 | 0° /120° /240° | 160
2PB 310-H16 (3~ |268|272| 93 |205| 2 |260| 92 |141(101|83|108| 82 (69| 41 | G1,,, |64 | 10| 3 |M6x17 M6x15|0° /120° /240° | 160
2PB 330-HO06 |3~ |268|272| 93 |205| 2 [276| 92 |141(101(83|108| 82 |85| 41 | G1,,, |64 | 10| 3 |M6x17 M25x1. 5|M16x1. 5| M6x15 | 0° /120° /240° | 160
2PB 330-H16|3— |268|272| 93 |205] 2 |2761 92 [141|101|83|108| 82 |85| 41 | G1,,, |64 | 10| 3 |M6x21T7 M25x1. 5|M16x1. 5| M6x15 | 0° /120° /240° | 160
2PB 310-A01 |1~ |268|272| 93 |205| 2 |260| 92 | 141|101 |83 |108| 82 (69| 41 | G1,,, (64 ] 10| 3 |MEx1T 3-!25::1.5!&!165:1.5/ M6x15|0° /120° /240° | 160
2PB 310-All|1— [268|272]| 93 |205]| 2 (260]| 92 |141/101|83|108| 82 |69 41 | G1,,4 |64 |10 | 3 |M6x1T M25x1.5M16x1.5/ M6x15 | 0° /120° /240° 160'
2PB 330-A11[1~|268|272]| 93 |205] 2 |1276(92 [141]101|83[108| 82 [85]| 41 | G1,,5 (6410 ] 3 [M6x17|M25x1. 5|M16x1.5 M6x15 0":’120“'.-’240" 150'




BF FEAE B 3% (L) A PR )
f | 5 M & X i

2PB3 W Zk &% R~t / Two stage mounting dimensions

320

2PB 320-H36 |3~ |293|32¢|286] 47]205[230]35¢[160]141[114|120] 83 |108] 82 [ 138 41 |61, 64|10 ]2. 5] 02 |wex17| | —"[u25x1. 5| mi6x1. 527 [160[uex15[51° /1710 s201°
2PE 320-31 [1~ |203)3041286| 47(205(2301354 1601141 11141120183 1108] 82 | 1381 ¢1 lc1. .[edl 1012 5102 (Mex17 251, 5 N16x1. 5 o7° l160luex1slsl® /1710 /291°




T

¥ HE

2PB4 /3AC (8, WA SHAZRES MRS EE (IP55 50/60HZ)

2PB4/ 3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (I1P55 50/60HZ)
L LiESH B B B W -
=
B e Ry e kS B2k 3 WiE Bk e HRnE | AEEA | EFEES
(2PB4 3AC) rated rated
Model single frequency power voltage current Max airflow noises | Weight
Vacuum compress
double HZ KW ' A m3/h mbar mbar dB(A) Kg
20 0.7 200-240 A 345-415Y 3.8A/2.2Y 145 -120 120 63
2PB 410 HO6 B 15
60 0.83 220-275 A 380-480Y | 3.75A/2.15Y 175 -140 140 64
50 0. 85 200-240 A 345-415Y 4.0A/2.3Y 145 -160 160 63
2PB 410 H16 B - - - 17
60 0. 95 220-275 A 380-480Y | 3.8 A /2.25Y 175 -160 160 64
50 1.3 200-240 A 345-415Y 5. TA/3.3Y 145 -170 200 63
2PB 410 H26 B 18
60 1.5 220-275 A 380-480Y 6.04/3.5Y 175 -210 220 64
50 0.7 200-240 A 345-415Y 3.8A/2.2Y 180 =70 70 64
2PB 430 HO6 b 14
60 0.83 220-2T5 A 380-480Y 3.8A/2.2Y 210 =50 50 65
50 0. 85 200-240 A 345-415Y 4.20/2.4Y 180 -110 100 64
2PB 430 H16 8 - 17
60 0. 95 220-275 A 380-480Y 4.0A/2,3Y 210 =90 70 65
50 1.8 200-240A 345-415Y 6.6A/3.8Y 180 -180 180 64
2PB 430 H26 B 18
60 1.5 220-275 A 380-480Y 6.94/4.0Y 210 -180 170 65
_ 50 0.70 200-240 A 345-415Y 2.5A/1.4Y 140 -120 120 63
2PB 490 H16 B 14
60 0. 83 220-275 A 380-480Y 2.TA /1. 6Y 175 -140 140 64
) 50 1.6 200-240 A 345-415Y 7.5A/4.3Y 150 -280 280 66
2PB 420 H36 AN 25
60 2.05 220-275 A 380-480Y 7.6 A /4. 4Y 180 =320 310 69
) 20 2.2 200-240 A 345-415Y 9.7A/5.6Y 150 -330 420 66
2PB 420 H46 A AT
60 2.90 220-275 A 380-480Y 10 A /5. BY 180 -350 440 69




S WEAE Bh A (i) AT B2
f & % M &~ X #

2PB4 R EMxBIghEE 3AC / Vacuum compression type curve
i

Vacuum Selection diagram 50 Hz—EZFERER 50 Hz Compressor Selection Diagram 50 Hz—E4EEREE 50 Hz
2?0 T %Sh
o a.hg Is?"\-.. g 160

& 1 60 'Z,\ ” Eh= ‘“‘n\
,:. 120 0. 25 [ :E'_L;&hp;":‘- - 120
= ARG O <o - <R
2, |47 oD fx 37 8 1542
: 80 of gl 1072 1?3'?%‘2‘&3? < e = 80
2 =1 o~ P . . ! —
: %40 ot 1254 | NN [ ot 40
z 202 L4 1l. 3o ' 0.7 & .
(B : Ep e T | .5 Yol |,
400 300 200 100 0 100 200 300 400 500 mbar
Vacuum (%% / i /F) Total pressure differenceAp/ 2.4 2Ap Vacuum (£ 45/ E/E)
- .

250 T 250
I e Lol | m'/h
s 200 ) abﬁ"”@/_ L R.0.83 =0
< LS N, 45
9ot T |58 %&\Q@. B3l 310 2,05
z 100 Tor 1 07 g2- - 5 o =y 100
E T8 1K | ™N l ~90. 95 T —1_l2.55
. 2155 05703 0. 9597 |50. 83 N$0. 83 ™ B
= 90 ¥ TS 50
I‘_J. 1- 5
Lo 0 . ‘ 0

500 400 300 200 100 0 100 200 300 400 500
Vacuum (JL 2/ &) Total pressure differenceA p/ EJ/EEA D Vacuum (555 / £ /&)

e — o



2PB4 ﬁﬁﬁﬁﬁﬂ'/ Single stage mounting dimensions

410/430/490

A
3 Yx/ 29 G—
] T, o \ VV1 VT i
ATITR 1D & <. 7%
V= o A R =
e N \\ - \
/ // P\ . \
[ ! ) | & A :I
i N~ 4
BN v L T o : T K p2
Fos &j“ | @) . Ta — = | r— | ~-.1Q-f~.n—/
< N i SR T — | 0
C N
D r= K MJ —N K M-
E F

2FB 410-H06 |3~12B86|302[115|225|255|269|135|154(111| 95 [130| 70| 75|46 |G1,,|72[12] 3 [N6x19 [m25x1. 5| M16x1. 5 [wex15]0° /120° /240° |174
2PB 410-H16 |3~286|302[115|225|255|292|160|154(120]| 95 [130| 70| 75|46 |Gl.,|T2[12] 3 [N6x19 / M25x1.5| M16x1. 5 |M6x15[0° /120" /240° |174
2PB 410-H26 |3~286|302[115|225|255|292|160|154(120| 95 [130| 70| 75|46 |G1,,,|72[12] 3 [M6x19 M25x1.5| M16x1. 5 |M6x15[0° /120" /240° |174
2PB 430-HO06 |37~286|302[115|225|255|288|135|154(111) 95 (130) 70|75 |46 |Gl,,|T2[12]| 3 [M6x19 M25x1. 5 [ M16x1. 5 |[M6x15[0° /120° /240° [174
2FB 430-H16 [3~{2B6[302|115|225|255[311{160]|154|120| 95 [130| 70|75 |46 |G1,-[72[12] 3 |NM6x19 / H25x1. 5| N16x1. 5 [M6x15]0° /120° /240° [174
2PB 430-H26 [3~{286(302|115|225|255(311[160]|154|120| 95 [130| 70|75 |46 |G1,-[72[12] 3 |M6x19 / M25x1. 5| M16x1. 5 [MEx15[0° /120° /240" 174
2PB 490-H16 |3~286|302[115|225|255|311|160|154(120| 95 [130| 70| 75|46 |G1,.|T2[12]| 3 [M6x19 M25x1.5| M16x1. 5 |M6x15[0° /120" /240° [174
2FB 410-411 |1~~286|302(115|225|255|294|160|154(120] 95 [130| 70| 75 |46 |G1,» | 72|12 ]| 3 [M6x19[M16x1. 5| M25x1.5 M6x15(0° /120° /240° [174
ZFB 410-421 |1~1286|302(115|225|255|294|160|154[120| 95 [130| 70 | 75 [ 46 |Gl | 72|12 | 3 [M6x19[N16x1.5|N25x1.5 M6x15/0° /120° /240" [17¢
2PE 430-411 |1~~286|302|115|225|255|311|160|154(120| 95 [130| 70 | 75 (46 |CGLl,»| 72|12 | 3 |M6x19[N16x1.5| M25x1.5 // M6x15[0° /1207 /2407 [174
2PB 430-421 |1~286|302[115|225|255|311]|160]154[120] 95 [130| 70|75 [ 46 |G1l.»| T2 [12] 3 [M6x19[M16x1. 5] M25x1.5 MEx15/0° /120" /240° [174




S A )

i

1

=L
nx

2%

i

fti ( Lif) 47 B 2 v

(s

Ay
3

#h:

2PB4 W R%ERT /Two stage mounting dimensions

420

YxZ
N
:" i.-‘;vL A-}‘ “.
; | e 11:\':. = : E
L & S
AN L\-\‘
] Y,
-‘.‘\_ ji f’f
— K M
s (1 F
= 3 -
E
2PB ¢20-H36 |3~ |322|324|315)58)225| 255401191 [154[153|128)95|130) 73| 11 | 45 |61, 72| 12 104 [N6x19 N25x1.5|M16x1.5)28° (174 [M6x15/51° /171" /291°
2PB 420-H46 |3~ |322]|324[315)58|225]255]|401|191|154(153]|128(95[130] 73 [ 151 | 45 |61, 72 12 104 |N6x19 N25x1.5 [ M16x1.528° |174 |M6x15[51° /171° /291°
2PB 420-A31 |1~ |322|324|315|58|225| 255401191 [154(153]128]95[130) 73 | 151 | 45 |61,,.| 72] 12 104 |W6x19 | K16x1. 5 | W25x1. 5| _—| 28° [174 [M6x15/51° /171° /291°




/ (B2, MB) STHESRBESRELESHKE (IP55 50/60HZ)

2PB5 /3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (1P55 50/60HZ)

) nag LiksH BA #E #e e | 2R
- %,S M gix | = HEmE FERE | HRAR | HADEH 4 E 7
Model single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noises | Weight
double Hz KW v A m3/h mbar mbar dB(A) Kg
&5 00— : : -
WSOMS | ® oo ot siea [0 amor| oAz | s w0 o
msome | [ [Lolmon et serssr | | m el
i IO N 03 1 7 T AT N TR I
i I B % - T - N R 0
~ FA1E = ) ‘ ~
ZBSWMS | % 5o o gmon Tono-raor| dzAzs 4T w0 T e
[ ‘ 415 E =
BSWHS | % o5 T [eeo-raor | 6oazaor | s |0 I
i W o X Y Y O R ) E———
T o -415 7 2. 5
msoms | w % l2z s ennrisal o0 e om0 T,
B0 M6 | ¥ 5o o o im0 Ton0 r0r] .24 7547 | 955 | im0 o
: : 24 345- i .6 i :
mwows | u |8 |22 ol feTaaerl e e
5 ‘ 200— A r 15 ; -
i I O R 0 BT N o
BV - £ : 72
R | B 5 [530-80A | 6600F|5.94 78 TIT| a7 | 410 o i




SF FEAL Bh % (i) A7 B2 )
i 8 5% M & X #

2PB5 REEAxRIghER 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz—REFXTEF 50 Hz Compressor Celetion Diagram 50 Hz—E4§ABIEFE 50 He
300 . 300
I‘ m'/h m/h
) ol 35 250
7tk 200
el 200 L+ }ig: lTT"g“E-B-QQC
= 150 m S = alkyaBel < 1 190
: a°P | | 1. A PBO ANNN T2
= 100 14702 ALAKAE 0|85 >‘3 s ' T P
S /,J::; 4 4971 1 “-’“'--..L . ™04
& 50 2 1, 2.2 L2 50
2 0 |2 f 0
500 mar 400 300 200 100 0 100 200 300 400 500 abar
‘Vacuuml_ﬁfé,‘;;i‘i.&"} Total pressure difference\ p/EJ/E£Ap Vacuum (%55 / L /E)

350 E
m'/h QJ'J/Q’? N ?nsfh
300 —Q5¢ 6195 300
% 250 1} 4ol [ N5 250
& l | gﬁ‘@v@ P -
oy 200 E 5?- - Q _H.-?’-’ e “;‘af_ — GJ r‘n.-__ 200
- P plos ¥ L1 ] SRS T T H25Y e
= | 1= T ~= (0 . 3 =
S 100 | 3. 4’&(5 85 2 5 )Ejf IA;'S, M‘q‘h":'?-h‘“ .99 Iaa-‘- -"51 6 100
= L LT | &1 0. 19 ToPR.5Y
g 4.|8| 3§57 d
= 50 : % '5qv : QF 50
= L.
Z 0 : 0
500 abar 400 300 200 100 0 100 200 300 400 500 mbar
Vacuum (& 2/ 5 /&) Total pressure differenced p/E/EZAp Vacuum (E %7 [ iF /&)

- ol




T

o HE

2PB5 E‘ﬁﬁ%ﬂ"f/ Single stage mounting dimensions

510/530/590
g™ -

.",. I \\i

aa —pt i —

—_—— . —

¥ 'I
// /

=W |
Y]

- 4 myMe

X—5x

7,
¥

r_,ll"\l
£

A 2 Type TE[ A [ B [ C | i | E | F ¥-Holes \.:t‘f:-: W
ZPE S10-HOE [3~|334|33T|120|260|295|314 |[160)175])120 155 87|48 83144 |M8x1T .5 |M8x20p° f120° f240° |200] 29
2PB 510-H16 |3~|334|337[120]260]295] 314 [160] 175] 120 155|96]87] 45 83 |14] 4 [m8x17] _— .5 | mex20k® f120° /240° [200] 2d
ZPE S510-H26 [3~|334|33T|120|260|295)346 |191|175])128 155 a7 458 83|14 4 [MBx1T __J-f‘"f_,-f"'f S| M8x200° f120° /240° |200] 24
2PB 510-H36 |3~|334|337]120]|2680]205] 346 [191|175] 128 155|96|57 [ 45 83 14| 4 mgm17|_— | _—" .5 |mexz0lp® f120° f240° |200] 2d
2PB 530-M06 |3~|334|337]|120]260]295| 334 [160] 175|120 155|a6|a7] 48 83|14 amex17l _— —| .5 mex20k® /120° f240° |200] 2d
ZFPE S30-H16 [3~|334|33T|120]|260(295]334 [180]175])120 155 87 | 45 83 ]14)4 [M3=x1T ,.—ff_,.r""’r .5 | MBx20 0° /120° /240° [200] 29
ZFB 530-H26 |3-~|334|337|120|260]295]| 365 [191)175)1258 155 a7 |45 93144 MBxl?_,.«-"f r,.ﬂ-“'f .5 | M8x20p° /120° /240° |200] 29
ZPB S530-H36 [3~|334|33T|120|260|295]365 |191|175]128 155 a7 |45 83 (14|4 MBxlT___ff”r,fﬂ"'; S MBx200° f120° f240° |200] 29
2FB S90-H?6 |3~|334|337|120|2680|2095] 385 [191]175] 128 155|986 |87 | 458 23|14/ 4 [max17 .5 max20jp° /120° f240° |200| 24
2PB 510-Al1 |1~]|334|337|120]280]295] 314 [160] 175] 120 155[ae]a7] 48 83 [14] 4 [max17| m16x1. 5] Mosx1. 5 _— Imex20p® /120° /240° [200] 2g
2PB 510-A21 [1~|334[337[120]260]295] 345 [191[175] 128 155[96]87] 45 83 144 |M8x17[M16x1. 5[ M25x1.5 " [msxz0p°® /120° f240° |200] 29
2PB S30-Al11 [1~|334|33T|120]|260|235]334 |160] 1751120 155 87 |48 93 | 144 [Mox1T|M16x1.5| M25x1.5 Max200° /f120° /240° |200( 29
ZPE S530-A21 [1~|334|33T|120|260|235|365 |191|175]1238 155 87|48 83144 [MB=1T|M162x1_ 5| M25:1.5 ‘,FJ"”_ M3=200° f120° /240° [200] 29
2PB 590-421 |1~]334|337/120]/260]295] 365 [191]175] 128 155[aela7] 48 53144 [Max17[Mi6x1 5| M25%1.5 " |M3x20p° f120° /240° |200] 2d




¥ HE

f

1 )

2 (b ) A7 B2
I I

1

x®

2PB5 X 2K 228 Rt/ Two stage mounting dimensions

520

¥ o ‘H]a §R| s
2PB S20-H46 |3~ |3712|411|371 | 60 [280 295|485 | 190]175] 144|135 | 115|155 | 98 [171 |48 55 [ 83 | 14 116 | ex17 | m32x1. 5 [M32x1 5 |m32x1. 5 | Wa2x1. 5 |200] mexz0 |51.5° /171.5° f291.5° |42
oPB 520-157 |3~ |372|411|371| 60 | 260 |295| 400|224 | 175 | 144|135 | 115|155 | o8 | 171 |48 | 55 | 83 | 14 116 | ex17 | M32x1. 5 [M32x1. 5 | W32x1. 5 | 3215|200 mex20 |51.5° s171.5° f291.5° |42




B HE

2PB6/3AC (8. NP SHEBFESEMEESHR (IP55 50/60HZ)

2PB6 /3AC (Single, double impeller) Gas ring vacuum pump medels and the performance parameters table (1P55 50/60HZ)

H ks BRARHBE iz B ws | B
(ﬂf ’jm) x| mE | = W E Wiz R HRE | RRES EHE S
Model single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noise | Weight

double HZ KW v A m3/h mbar mbar dB(A) Kg
50 1.6 200-240 A 345-415Y 8.5A/4.9Y 265 -170 180 67

2PB 610 HO06 B 24
60 2.05 220-275A 380-480Y 8.8A/5.5Y 315 -180 190 70
50 2.2 200-240 A 345-415Y 9. 7A/h.6Y 265 -235 220 67

2PB 610 HI16 B 27
60 2. 55 220-275A 380-480Y 10. 3A /6. 0Y 315 -245 230 70
50 3 200-240 A 345-415Y 12 5AYT.-2¥ 270 -280 280 69

2PB 610 H26 =] 32
60 3. 45 220-275A 380-480Y 12.6 A /7. 3Y 315 -260 270 72
; 50 1.6 200-240 A 345-415Y 8.5A/4.9Y 345 -125 125 70

2PB 630 HO6 <] 36
60 2.05 220-275A 380-480Y 3.8A /5. 1Y 415 -1056 130 73
. 50 2 200-240 A 345-415Y 9.7A/5.6Y 345 =200 195 70

2PE 630 H16 B 29
60 2.55 220-275A 380-480Y 10.3A /6. 0Y 415 -170 195 73
. h0 3 200-240 A 345-4156Y 12. 5A /7. 2Y 345 240 220 70

2PE 630 H26 ::] 35
60 3.45 220-275A 330-480Y 12.6 A /7. 3Y 415 -210 220 73




S HE A% B 3% 45 i) A7 B2 )
f &8 % M & X i

2PB6 REEARxBIBhER 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz—HSEAEE 50 Hz Compressor Selection Diagram 50 Hz—HE&FiGEIEE 50 Hz
400 400

' w'/h /Jo 5 N m'/h

o ﬁyﬂ-‘_‘_ﬁ.ﬂ- %

" 300 e . 300

p ¥ - i)\ 0 1" "Qb ! D [

H-;\g 116 - - :?:_E”_B,...--"’" .-h-"'hu._. HH""H

oy _,‘-B""W__,_.ap—*-’" ma ~ .6

T 200 : B BRoERES 200

4 . L~

= 100 e | -

Bl it

2 0 wr .
300 mbar 250 200 150 100 50 0 50 100 150 200 250 proma
ancuwn(,f,Lg‘:_;’ 0 ) Total pressure differenced o/ EE£Ap Vacuum (&4 /£ /&)

Selection diagram 60 Hz—EZFZHEXIER 60 Hz

400 o

1 m'/h &30 e =111 2P u'/h
2. > o 55‘0
300 = S = 300
s 200 7 = 5 200
E 2. 55| 4 ey 4 |
< 3 1%/““ 3 455/ g:'%ké 2154
5 : ‘ A5 ~1
3 100 P b 100
& 0 :
300 sbar 250 200 150 100 50 0 50 100 150 200 250 300 sber
Vacuum (JL %/ /L) Total pressure differenced p/ LB £Ap Vacuum (JE 4% / 5EJE)

- o



T

B pE

2PB6 *ﬁﬁﬁﬁﬁ' / Single stage mounting dimensions

610/630

Y X Z \YAY;
\
\
| [ s
ﬁ'_') N7 T, /_)
{:-\_ T’KL //)\ \‘,_’/‘10
m ——[f—=—Tr—r—= —F———-— / \
™~ ¢ X 11
I / ’./ {
< ] == o / o/
S A 3
T [ | e Py
e \\\- ~
* Sae e X
L ZU°
C -—N K M—=
D
E
Z2PB 610-HO06 |3~|360|366|122]|284(325|354|191]|192|128|140]180|84 | 94 (52 |55|83|14|4.5|H8x17 M25x1. 5| M16x1. 5 |M8x20|0° /120° /240" |226|26
ZPB 610-H16 |3~ |360|366(122|284|325|3594({191|192|128(|140({180|84| 94 |52 |55 |83 |14 (4. 5| N8x17T M25x1. 5| M16x1. 5 [NBx20|0° /120° /240° |226|29
2PB 610-H26 |3~|360|366|122|284|325(385|188|192|135|140{180|84| 94 | 52 55|83 |14 [4. 5|M8x17|M32x1. 5|M32x1. 5(M32x1. 5| H32x]1. § |[N8x20|0° /120° [240° |226(42
2PB 830-H06 |3~ |360|366(122|284|320|372(191|192|128|140|180|84| 94 |52 |50 |83 |14 4. 5 | Mex1T M25xl. 5| M16xl. 5 |M8x20|0° f120° /240 [226]|2%
2PE 630-H16 |3~ |360|366(122|254|325|372(191(192|128|140|{180|84 | 94 |52 |55 (83|14 |4. 5 [M3x17 M25x1. 5| Mi6xl. 5 [N8x20|0° /120° f240° [226]|2%
2PB 630-H26 |3~|360|366)|122|284[325(403|188|192|135|140{180(84 | 94 | 52 [ 55|83 |14 [4. 5|MBx17|M32x1. 5|M32x1. 5(M32x1. 5| M32x1. 5 |[M8x20|0° [120° /240° |226(42




5 M A0 0 23 A0 (I ) A7 L 2%
oW OB O & % M

RENE/NTEFEN
MR AR R
P BBAR L+
DRME  BRNH
REXFEM B
R R
—HEFTx
EEME—4&8Z,
LM EERABEED




T

5 FE

2PB7/3AC (8. NP SHREFESEMESHER (IP55 50/60HZ)

2PB7/3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (1P55 50/60HZ)

25 LESHR BE B e Wy | ®E
e & B ThE e ik BiE R 3 HZHK) [ %]
(2PB  3AC) single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noises | Weight
double HZ KW v A m3/h mbar mbar dB (&) Kg
Rl [ e e 1 ... e B B 1 e B
w0 s | B e e ta e 510 gl o
I I e o 7 w1 LY i =50 310 i i
T I e e 2. Bt 1 Bt
R T e 15t 1t R - e e
Tl IR w1 S X 20 20 5]
Gl I o - 1 ) G W 1Y i i ol o
T IR v s S ) S Y. 0 % o 5] o
Tl I o - 5 = o 151 ... - 1m0 50 ] T
2B 0 WY | R S ——asrrer— A o or 900 150 %0 ] ™
w10 We | B Any s “TtD 1% o
Tl W w0 ) Y A 1 20 7 o
i W e o W 1 N KT Y 0 0 0 o
Il MU e o v 1 st v 10 100 5 ]
e B e e o %S = 7w 1= - 5 . 1 10 0 o Ml
el I e 0 o 1. /.0, 10 =70 w o
R B o o o T . - e s e e B




S MR A B % Ml 1) A7 B2y vl
8 5 B & X i

bt e o N e i

Vacuum Selection diagram 50 Hz——RZEHZBEFE 50 Hz Compressor Selection Diagram 50 Hz—HE 4T EFR 50 Hz

| o TS
m’ [ o/

S 400 LERBES W 400

‘5:' [ a1_?— g ‘\_\

= 300 ! ale ny B0 2B8 o~ ‘\-1‘ 300

2 4 | LBkt | [ ente e b2 4

3 200 | g Lsb Lol BT S N Tk 200

- e . }‘.'-’ ': - L oox e 3 ==

£ to0He ok ?f"—'é’fﬁ Sl Hz‘ﬁ?“‘\%} - PYTTrol | 100

3 s5[5(1.5 ' $ ?.'[‘ bl [ '[Z'E"'.[* |

W 0 1 O

500=bar 400 300 200 100 0 100 200 300 400 500 600 mbar
Vacuum( 4=/ % /£) Total pressure difference) p/ &2 £Ap Vacuum (/£ 53 ;_-ug;-.-

Compressor Selection Diagram 60 Hz—ESHETEZE 60 Hz

700 ] 700

I m'/h | | m'/h

600+ T [N 090

< 500 s iy 500

ot BT 1o | T2, TN

S 400 A1 1] = b 400

= Lt L1 ﬁ;*_ﬂ@"-‘,-‘-’- go8720| TN 2 bsf> B'i\

o 8.3, A 2155, 4—tanol ek

£ 300 T B | P S e 300

- | T b.d 1> 4.':62'7?'2 5 “MME 3 Tosle .-t AL

= 200 | =T 1 b | ~o T 1o I 200

2 1004b7 M o i Wl 100

3 olll | L1 ] 0
500mbar 400 300 200 100 0 100 200 300 400 500 600 700 wbar

Vacuum(A %/ i /&) Total pressure differencel p/ /L £Ap Vacuum (/%52 / F /&)

-l =




T

B HE

2PB7 ﬁ—ﬁﬁﬁﬁﬂ' / Single stage mounting dimensions

710/730/790
A
! YxZ VV1 N W G
/,/"_F_T T b d N V'V1'
// V'\*"E‘«c'.\-' N\ [ - D @ e
j/ AL ._‘_‘:;:\\ \\ 5 W I I F \_/
SN/ E N YxZ7 N 2
m N e e e Ly 370 i DS s ey /
\ 3 ‘\-._ I\ | / .f"l o .'fl '}i: A \
\ P % x_! ; //_,- W / ™~ :., X |
N °Eﬁ3§|jf%{” /U X ] EE: w F wd
S O, = S
s 0 N0 - ')
i [T TN — - - P
—120'-
C ~—N K M—
D =
E
2FPB T10-H06 |3~ [382|5384|125]290|325[377|151/197(128(140|180|84]109| 54 [55[83|15]4. 5 [ME8x17 M25x1. 5[M16x1.5 [M10x20(0° /120° /240° |240(29
2PB T10-H16 [3~~|382[384|125|290|325|377|191|197{128|140{180|84)|109| 54 [55|83[15[4. 5 |N8x17 M10x20[0° /120° /240° [240|29
2PB 710-H26 |3~[382|384[125|290/525[409[188/197|135|140[180|84[109| 54 |55[83|15|4. 5 |M8x17|M32x1. 5|N32x1. 5|M32x1. 5| M32x1.5 [M10x20|0° /120° /240° |240([42
2PB T10-H37 |3~~|382|384|125)|290]325]|432(209(197]|148|140|180(84|109| 54 (55|83 |15|4. 5 |M8x17|M32x1. 5[M32x1. 5{M32x1. 5[ N32x1. 5 |[M10x20[{0° /120° /240° |240[42
Z2FB 730-HO6 [3~[382[384|125|290|325|387]191|197|128]|140|180(84(109)|54 |55)|83]|15|4. 5 |M8x17|M25x1. 5{N16x1.5 M10x20|0° /120° /240° |240([29
2PE T30-H16 [3~|382|384|125|290|325|387|191[157({128|140{120|84|109| 54 |55 [83|15|4. 5 |MB8x17|M25x]1. 5{M16xl. 5 M10x20|0° /120° /2407 |240(29
2PB 730-H26 |3~~|382|384|125]|290[/325]|419[189(197|135|140|180(84|109| 54 (55|83 |15|4. 5 |[M8x17|M32x1. 5[M32x1. 5[M32x1. 5[ N32x1. 5 |[M10x20({0° /120° /240° |240]42
ZPB T30-H37 |3~|382|384|125|290|325(440|209|197(148|140|180|84 |109| 54 |55 |83|15|4. 5 [M8x17|M32x1. 5|M32x1. 5|M32x1. 5| M32x1. 5 |[M10x20|0° /1207 /240° |240(42
2PB 730-HZ6 |53~|382)384]|125]|280(325|377|185(197(128]|140({180|84|109| 54 [35[83]15(4. 5 |MBx1Y M25x1. 5| M16x1. 5 [M10x20({0° /120° /240° |240]29




$F FE W)

2L
nx

i ( L i) A7 Bt 2y vl

L‘ », /- =
F 8 8 H & % #
2PB7 X2k &R / Two stage mounting dimensions
;_.‘u
-
W G—
- 5 e,
d | N i % w
,"’ ™ 2 AT B 5
ATl T T —‘—__I & B = l‘ S
{/ \ J/:’?_\ VIV A prs ,?‘»‘“‘ = \ Vj\',*. q)\
Fi | \\\ Ir-_ ,_C k!;"‘ // '\\
m i (( ) ) | — — {Bi?\dx f"“xca //*\ \
! ab T A 4 w« O] Y1 77 | Yt II
WL ety I w o / \ b~
\\..--\-‘ ﬁ:-..‘a_ X /'}’-\ P - P =4 f 5 X \ H{.-' z:"?\:,)
LEEC ) e : i == 2, 2
NRE2 g Sy l — ' ¢
[ } A T \\1 " _.'l_.‘,-"/
o 7 old
o ) 1 N K—=W3=
2 r
—M F
= i
2PB 720-H16 |3~ |[426]|426/410| 63 |290|325|473|151[197|162[128|140|180| 84 |205|53| 55| 83 | 15 |4. 5(130 [M8x17|M25x1. 5[H16x1. 5 240 |M10x20| 51.5° /171.5° /291.5° |29
2PB 720-H26[3~ [426|426/410] 63 [290|325|496(188|197|162[135|140[180| 84 |205|53] 55| 83 | 15 | 4. 5130 [MBx17|M32x1. 5|N32x1. 5[N32x1. 5|M32x1. 5] 240 [M10x20]51. 5° /171.5° /291.5° |42
2PB 720-H37 |3~ |426|426|410] 63 [290]325|526|209|197]162]148]140(180] 84 |205]53] 55| 83 | 15 |4. 5]130 [Mex17[M32x1. 5[M32x1. S[MS2x1. 5[M32x1. 8] 240 [M10x20]51. 68° /171.8° /201.5° |42
2PB 720-H47 |3~ |426|426|410|154|290|325|571 [226|197]162]167]140]180|200|205] 53] 55 | 83 | 15 |4. 5{130 [M8x17|M32x1. S|M32x1. S[ME2x1. 5[M32x1. 5] 240 [M10x20[51. 5° /171.5° /201.5° |42
2PB 720-H57 |3~ |426|426|410|154|290]325|571 [226|197]|162]167]140]180|200|205] 53] 55 | 83 | 15 |4. 5{130 [Mex17|M32x1. 5|M32x1. S[M32x1. 5M32x1. 5] 240 [M10x20[51. 5° /171.8° /201.5° |42




T

¥ HE

2PB7 W %R~ / Two stage mounting dimensions

740

-6
42
YxZ L]
e 2 A
- X >
| /%
< O W N - oX
>
™
X L
s i \LG
i ]
N K—+M
2PB T40-H37 |3~ |420| 469|125 290 |1 325 | 526 | 209 | 197 | 148 | 140 | 180 | B84 | 205 (112 ]| 55 23 15 |64, 5|MB8x1T|4 = M32x1.5(240|N10x20|0° /1207 /2407
2PE T40-H47 |3~ | 420 | 4659 308|290 | 325|571 | 226 | 257 167|140 | 180|200 | 205|153 | 55 | 83 15 |64, 5|MB8x1T|4 x M32x1.5(240|M10x20|0° /120° f240°
ZPE T40-HS57 (3~ | 420 | 469 308|290 | 325 | 571|226 | 257 | 167 | 140 |1 180|200 | 205|153 | 55 83 15 |64. 5|MB8x17|4 x M32x1.5|240|M10x20|0" /120° /240




SF FEA% B 3% 4 ( i) A7 B2 A
a8 5 B & X i

2PB5310/2PB7310/2PB 75-30/ 3AC (%, ZH) SHRERVSEMRESHE (IPS5 50/60HZ)

2PB5310/2PB7310/2PB 75-30/ 3AC(Single, three impeller } Gas ring vacuum pump models and the performance parameters table {|P55 50/&60HZ) New products
L. SR BA B BE
2PB [—

S P =p 1 mx o= BEan EEEw BRAR | RAT) ERty | A% | BR
m) & - d d - -
Faida single | frequency | power voltags current Max airflow | rated Vacuum | rated compress | noises | Neight

three KW v A n3/h mbar mbar dB(A) Ke
— 50 4 345—4154 600-720Y 104 /5, 8Y 220 =450 200 73

¥R 5310 HO7 T 60 4.6 380—-480 A 660-720Y 10. 34 /5, 9Y 280 =470 040 10 o3
- 50 a3 345-4154 600-720Y 104 /5. 2Y 300 —410 430 75

a8 750 W i 60 4.8 380-4804A 660-T20Y 10.4A /6. OY 360 =400 370 78 5
50 3 200-2404 345-415Y 12.6A /7. 2Y 540 -180 170 81

29 7539 W07 o 60 3.45 2202754 380—430Y 12.64A /7. 3Y 635 -120 130 83 l
50 4.3 345-4154A 600-720Y 114 /6.5Y 540 =210 200 83

W oW H H# 60 4.8 380-480 4 660-720Y 12.5A /7. Y 635 =150 140 85 5
50 4.3 200-240 A 345-415Y 154 /8.5Y 540 -210 200 83

IEESLS ? 60 4.8 220-275A 380—430Y 15.54 /9. 0¥ 635 -150 140 85 =

5310/7310 75-30

2FE 5310 HOT 3 1334]337]120]260|295]314)160]175]120]115]155] 96 |255| 48| 55 | 83 |14] 4 |mMe*17] M32#¢1.5 |200]M8%20|0°/120°/240°
2FB 7310 HOT 3 |334]384]125(290]325]432(209|197]148}140]180]109)301] 54 | 55 | 83 | 15J4. 5| M8*17 | M32*1.5 |240]M10%*20]0°/120°/240°
2FB 75-30 HO7 | 3 |426]447]145]305|332]|437[230]243)148]|155]235]128]129] 45 |c2*?| 79 |12]| 6 | M8*17| M32+1.5 |262|M12%20]|0°/120°/240°
2PB 75-30 H17 | 3 1426144711451305133214671230124311481155]1235)11281129] 45 |¢c2**] 79 112] 6 |M8*17] M32%1.5 |262|M12%20]0°/120°/240°




2PB8/3AC (8, NP SHEBRAESEMEESHEE (1P55 50/60HZ)

2PB8/3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (I1P55 50/60HZ)

LR kB BA e WE i R
czrf ’fm W g% | u% BERE HsE R R EEEN YR /7
douife single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noises | Weight
double HZ KW v A w3/h mbar mbar dB(A) Kg
58] 4.3 34F-415 A 600-T20Y 9.5A /8. 5Y A30 =200 200 70
2PB 810 HO7 =} 51
60 4.6 380-480 A 660-720Y 9,.5A /5, BY 620 -180 160 T4
50 5.5 3454154 600-720Y 12, 9A /7. 4Y 530 -300 320 80
2PB 810 HI7 | - 62
B0 6.3 380-480 A 6060-720Y 12, 9 A /7. 45Y 620 =320 240 22
(518} Toh 345-4154 600-7207 16, 7A /9. BY 530 -320 380 80
9PB 810 W27 | : - 65
60 8.6 380-480 A 660-720Y 17.3A /10, 0¥ 620 -350 400 82
R0 .5 345-41F A 600-720Y 13.3A /7. 7Y 520 -240 240 T4
2PB B20 H17 X - 83
60 6.3 380-480 A 660-720Y 13.3A /7. 7Y 620 -170 160 78
50 75 3454154 600-720Y 16.7TA /9. 6Y 520 -400 400 T4
2PB 820 H27 E4 88
60 8.6 380-480 A 660-720Y 17. 34 /10, 0Y 620 -360 330 78
50 11 345-4154 600-7207 28. 0A/16, 2Y 520 -430 BE0 T4
2PB 820 H37 P4 _ 104
60 12. 6 380-480 A 660-T207 29, 0A/18, TY 620 —460 600 78
50 15 345-4154 600-7207 32. bA/18, 8Y 520 —460 670 T4
2PB 820 H47 Py 120
80 17.3 380-480 A 660-720Y 34, 5A/19. 9Y 620 -490 750 78
oPB 830 HO7 o 50 4.3 345-4154A 600-720Y 9.5A /5, 5Y 700 ~150) 140 70 i
60 4.8 380-480 A 660-T720Y 9.5A /5. bY 840 =90 S0 74 ’
51} 55 345-4154A 600-720Y 12, 9A /7. 4Y 700 -200 180 70
2PB 830 H17 | : ——— : — 66
80 6.3 380-480 A 660-T20Y 12, 9A /7. 4RY 840 -180 180 T4
PR 830 H27 & L] 1.5 345-4154 600-720Y 16. 7A /9. BY 700 -270 260 7a 69
60 8.6 380-480 A 660-720Y 17.3 A /10. 0Y 840 -270 260 T4
50 7.5 345-4154A 600-720Y 16. 7A /9. BY 400 -200 180 74
2PB 840 H27 | = : : 91
60 8.6 380-480 A 660-T20Y 17.3 A /10. 0Y 1050 -150 120 78
650 11.0 345-41RA 600-720Y 28, 0A /16. 2¥ 900 -280 370 T4
2PB 840 H37 A — ] i 110
60 12. 6 380-480A 660-720Y 29, 0A /16, TY 1050 -310 350 78




$F FEA% B 5 il ( i) A B 2w
f 8 5% M & X #

2PB8 ME=EAERIBER 3AC / Vacuum compression type curve

.

Vacuum Selection diagram 50 Hz—E THRIEF 50 Hz Compressor Celetion Diagram 50 Hz—HE#{EREZR 50 Hz

1000 1000

[ aiv'y E "4?3.:',,5'.5 m’/h

# 800 et T ST PRd

§< A ope82-1 é% T 600

'é‘ 600 ji. e 5/ ,ﬂ"’égaiglg_.g... - b ad ks T

3 1t il | PrESTR I 39 | | [T

& 900l lih Lol T (ot 19e [T : AL 200

Lafil [

o 0 »

& 500 mbar 400 300 200 100 0 100 200 300 400 500 600 700 abar

Vacuum (&= / i JE) Total pressure differenced p/ S E £Ap Vacuum (/£ 47 / JE /)

-

Compressor Celetion Diagram 60 Hz—E#F%T EFE

1200 1200
T m'/h l - "EE; [ m'/h
#1000 & et ;a a=ag 1000
< 800 Ao e R RARR=E 800
> = | = bppsa : Tl T
3 600 ale 1200 E = ‘",;fp o e E “:%g::fzﬁf___-%i_- 78 600
= 400 QL% =l ™ P ;@T" ' - e.“f""‘---‘..ﬁ_(. e 1 ~ 400
o 17,3 L1~ 1 i
= 200 % 200
2 0 0
7 500 mbar 400 300 200 100 0 100 200 300 400 500 600 700=bar 800

Vacuum (L5 / % 1£) Total pressure differenceA p/&E £Ap Vacuum (/£ %/ £ /E)




T

% He

2PB8 %ﬁﬁ%ﬁﬂ' / Single stage mounting dimensions

810/830

|'."
[
I
YxZ W
' . — Taz 120°
i
m T T — T [

S X

r:(j...‘

|

e

.5 -

p— o A
(-]
I,_ : 120
e =— N K M

ZFE B10-HOT |3~ | 451 461 | 509 | 152 | 356 | 394 | 433 | 450 | 230 | 240 148 1170 | 217 | 140124 65 G2,- |15 6 |4 M32x1.5(42 | 286 |M12x20| 0° /120° f240°
ZPE B10-H1T7 |3~ | 451 461 | 509 | 152 | 356 | 394 | 435 | 477 | 226 | 240 167 | 170 | 217 | 140|124 65 G2,- |15| &6 |4 M32x1.5(42 | 286 |M12x20| 0°/120° /240°
2PB 810-H27 |3~ | 451 461 | 500 | 152 | 356 | 394 | 435 | 477 | 226 | 240 167 | 170 | 217 | 140124 65 G2,7 | 15| & |4 M32x1.5/| 42 | 286 [M12x20| ©° /120" /240°
2FE B830-HOT |3~ | 451 461 | 509 | 152 | 356 | 394 | 449 | 466 | 230 | 240 1483 | 170 | 217|139 | 164 65 G2, - 15| 6 | 4 M32x1.5( 42 | 286 (M12x20| ©0° /120° f240°
ZFE 830-H1T7 |3~ | 451 461 | 509 | 152 | 356 | 394 | 449 | 492 | 24T | 240 167 | 170 | 217|139 | 164 65 G2y7 | 18| 6 |4 N32x1.9| 42 | 286 (M12x20| 0°/120° /240°
2PE 830-H27 |3~ | 4581 4561 | 509 | 152 | 356 | 394 | 449 | 492 | 247 | 240 167 | 170 | 217 | 139 | 164 65 G2,, |15 6 |4 N32x1.5( 42 | 286 (M12x20| 0°/120° /240°




S HEAS B it (bt ) A7 B

2 il

VA "
fF 8 5% M 4 S §
2PB8 X 2% R#ERT / Two stage mounting dimensions
F ~
‘ h’f W
Y \i' V‘-.\. Y ;;,-
i ——
 — PR
¥4 — - s -——
m o i— 8
' & t,
4 Y )
L r? B
L —N <
) 1
” - N b~ £ - 5
e 7
| _,r £ g
0\
R0 __ AR
/,:“ N e
I \\ - 120
5= N /
il N "4
S0Y o)
- I;u e _,_/,/
2PB 820-H1T7 |3~ | 500|549 | 490|509 | 76 | 356|394 | 545|589 | 226 | 240 | 199 | 167 | 170 | 217 236| 84 | 65 | G2,,; | 15| 6 |4 x M32x1.5( 42 | 286 |M12x20|51. 4° /120° /240°
2PE 820-H2T |3~ | 500|549 | 490|503 | 76 | 356 | 394 | 545|589 | 226 | 240 | 199 | 167 | 170 | 217 236| 84 | 65 | G2,; |15 | 6 |4 x M32x1.5| 42 | 286 |M12x20(|51. 4" /120" /240°
2PB B820-H37 |3~ | 500 | 549|490 | 509 | 76 | 356 | 394 | 694 | 717 | 318 | 240 | 199 | 197 | 170 | 217 212| B84 |105| G2,,; | 15| 6 |4 x M40x1.5| 54 | 286 |M12x20|51. 4° /120" /240°
2PB 820-H47 |3~ | 500|549 | 490|503 | 76 | 356|394 | 694 | 717|318 | 240|199 (197 |170| 217 212 | 84 |105| G2,,; |15 ) 6 |4 x M40x1.5( 54 | 286 |M12x20 51.4° /120° /240°




T

¥ ME

2PB8 ﬂﬁﬁﬁﬂ#/ma stage mounting dimensions

840 A F
—t YxZ \ —G—
TRETTA e v W
// | “\\\"\\ \ A] LJ'__,.‘
// BTV N\ | i o
.x ////—__ﬁ'\\\ \ ]
® —-—tf—i—-——1 SIS ST . S ——
\ \ &_'_// I !} —
\\l\\ U, \'“‘* _E-/ / / e
D L g o3
N\ Do) X -
LN a2 I [ -
l :J + | ,/]__ I ‘i
—:. I: :- ‘BI-:_' 9p] \J 4“_""' M
¢ e —
D
E
__---ij,; ';,—, :‘ aTaL
>\
. B S T / \
§ I.-_‘I ‘:r /" .I g |
7 - = /
: o SE | <\ f 5
EI d L \\,\\“‘x i s ,_\D/
e ~—120
ZFE B40-H2T |3~ 500 | 550 | 152 356 | 394 | 559 | 247 | 300 | 167 | 170 | 217 236 | 125 | G2, | 15 |66 | 4 x M3Ex1.5 | 42 [ 266 | M12x20 0°/120% f240°
ZFE 840-H37 |3~ 500 | 550 336 | 356 | 394 | 694 | 518 | 300 [ 197 | 170 | 217 | 312 | 212 | 165 | G2, [ 15 | 66 | 4 = M40x1.5 | 54 | 266 | M1Zx20 0° /120 /2407




S FE AT 3% M (1) A7 B2 )
o o8n B & X 3

L
(8]




T

# HE

2PB9/3AC (. WP SHAZFHSRIEGESHIET (IP55 50/60HZ)

2PB9/3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (I1PS5 50/6QHZ)
e B B BEEE  FIR FRE | Eers R e | A%
Model single | frequency | power voltage current Max airflow rated Vacuum | rated compress hoises Weight |
double HZ KN v A m3/h mbar mbar dB (4) Kg
¥ 910 WT| % —g 5w e Is.3& 710,57 1720 15 g0 ]
P8 910 WT| B gt smamA | esTaY 550/ T6.1Y 20 7 260 ] U
%8 910 7| # o 75 | ssodmA | oAy 3558 /21,01 1250 40 350 | 1
9PB 910 H37 ™ 50 18.5 345-4154A 600-720Y 37. 0A/21.0Y 1050 —360 460 14 126
60 21,3 380-480A 660-720Y 39. 0A/22. 5Y 1250 =380 420 79

b 920 WT| M gy aeodmA | eeorany B ORTIETY o 20 200 o
#8920 BT N e mrmA e S/ oY 300 40 0 ]
w o w| w o 5| s | o = oot 1310 0 0 T
®8 90 WM7| W 5 smoma | ee0rat 520 /3001 1310 0 50 ] 2
#8 90 WT| # 5o A s I8 28 7057 1650 e ) m—|
B 90 WT| 8 gl SrdmiA | BeO-TaY ORI 1650 150 = ] !
8 9% WT| B e mIA e ORI ST 1650 0 250 ]
w o0 wr| m ||y T SAIL T 70 0 ) i
28 90 WT| B e —mmIA Ry TORTITY 7D &0 0 ] 2
%8 940 WMT| B 5| se0-mA | ee0Ta0r S20R /3007 230 20 7 g 21
%8 90 7| # o5 swdmA | sy 35 58 72107 2450 120 1m0 -
#5943 W7 | B g mrmA G0 TORTIY 270 10 0 ] 2
¥ 943 WT | # | —5— A —eoTa S GRG0 2480 10 730 o




SF A B e L) A7 B2 )
8 5 M & X #

2PBY RESEAREBIghER 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz—RFEZTEE 50 Hz Compressor Selection Diagram 50 Hz—HE4: LB EF 50 Hz
2500 T 2500
l w/h w'/h
v 2000 2000
<
% 1500 1500
= 1000 8 1000
. 8T 1o s ? &
& 500_|JG5‘-0' 15 :’ - r 500
LAl [
500 shar 400 300 200 100 0 100 200 300 400 500 600 mbar
*\’acuuml_.,ﬁ..u'}_',’ﬁ_!ifl Total pressure differencer p/E R £Ap Vacuum (54 / i£ /R)

2500 < =T 2500

13 2000 TTHT TP 3 ‘*f__gﬁ 2000
5 ML LT TP ohd | b
g ﬁé# e e L fe 1500
3 a5 et O- "1 B & I S e = g P 23
:'7 1000 o=1"1 | 0 " -:-'::" 41 I o 9%- ‘?T?l 0 Bu 1000
: go1{23 11;1._‘6‘:‘9 E-""‘ 3 '—*—1-% = L 23
< 500 04— 500
@ 0 0
500 mbar 400 300 200 100 0 100 200 300 400 500 600 mbar
Vacuum (£ =/ § /8) Total pressure differenced p/E/Z £Ap Vacuum (/£ 57 / JEJE)

et




1]

2PB9 -*ﬁﬁﬁﬁﬂ' / Single stage mounting dimensions

910/930

i
o™ Yx/ ﬂ — W

|
=]
L
/

> = ,‘L- i \‘\.
ol Vv ¥ud—~ /?\ et |
oo L P X :
= ) /
* K ‘f\/ >’
[ P— .
- J ~—120
v N M=
D F
E F

B 2 Type #E1'E| A \ B \m\ c ‘1:"

ZPB 910-HOT |3~ | 550 | 569 (55 | 207 (15| 360 | 415|525 (644 (605 | 268 | 300 | 167|533 | 39 [ 89 (92| 100 [ 150 (15| 21 |M12x30(4 x M32x1.5)42 |490 | M12x30 [0° f120% /f240°
ZPE 910-HIT |3~ [ 550|569 (55| 20T |15| 360 | 415|611 (644 [ 605|345 | 300 | 197|533 | 39 |89 (92| 100 [ 150 (15| 21 |M12x30(4 x M40x1.5)|54 |490 | M1 2x30 [0° /1207 /2407
ZPB 910-H3T |3~ | 550 | 569 (55| 207 (15| 360 | 415|611 (644 (605|345 | 300 | 197|533 | 39 [ 89 (92| 100 | 150 (15| 21 |M12x30(4 x M40x1.5)|54 |490| M1 2x30 [0° /1207 /2407
ZPB 930-HOT |3~ | 550 | 569 (55| 207 (15| 360 | 415|563 (662 (643 | 268 | 300 | 167|533 | 39 [127(92| 100 [ 150 (15| 21 |M12x30(4 = M32x1.5)42 |490 | M12x30 [0° f120° /2407
2PB 930-HIT |3~ | 550 | 569 |55 | 207 (15| 360 | 415|643 (652 (643 | 345 | 300 | 197|533 | 39 [127(52| 100 [ 150 (15| 21 |M12x30(4 x M40x1.5)|54 |490 | M12x30 [0° /1207 /2407
ZPB 930-H3T |3~ | 550 | 569 |55 | 207 15| 360 | 415|643 (662 643 | 345|300 | 197|533 | 39 [127(02| 100 [ 150 (15| 21 |M12:30|4 s M40x1. 5|54 |400| M1 2x30 [0° f120% /2407




SEHEM )

f

:IL
ni

i 1) A7 B2 )
B O% M & X 3

2PB920 ¥R~} /Two stage mounting dimensions

920

>

B2 Type [%Efﬁ

Mo

M| [mc

eX-3x 120

2PB 920-HIT |3~ |B15|780|607|16 [104] 15360 | 415|752 (786 |634|345]|300)|234(197|533|39|230(92 (100|150 15| 21 (117 |M12x30 |4 x M40x1.5(54 [490|M12x30
Z2FB 920-H2T [3~ |[B615(760(|60T| 16 [104] 15 |360 (415|752 | 766 |634|345|300|234|197(553(39(250|92| 100|150 15|21 | 117 [M12x30 (4 x M40x1.5|54 |490|M12x30
2PB 920-H37 [3~~ |[B615(760|607| 16 [104] 15 |360 (415|752 | 786 |634|345|300)|234|197(533(39(230|92 100|150 15|21 | 117 [M12x30 [4 x M40x1.5|54 |490|M12x30
2PB 920-H4T [3~ |[B15(T680|60T| 16 [104] 15 |360(415(812 | 786 |634|405]|300)|234|197(533(39(230|92|100(1S0]| 15|21 | 117 [M12x30 [4 x M40x1.5|54 |490|M12x=30




i

2PB940 X R~t / Two stage mounting dimensions

940

ZFB 940-HZT

B15

207

345

358

197

533

39

230

150

100

140

M1Zx35

4xM40x1 .5

M1Z2x30

n—Holes

1z0° /60° f60°

2FB 940-H37

615

enT

345

358

197

533

39

230

150

100

140

M12x35

4xM40x1 .5

M12x30

120° /e0° fe0°

2PE 940-H4T

615

207

345

350

197

533

39

230

150

100

140

T3

M12x35

4xM40x1.5

M12x30

120° /60° f60°




8 FE A Bh Gt (i) AT B2
8 B M & X 4

2PB9 ﬂﬁﬁﬁﬁﬁ' / Two stage mounting dimensions

— _ﬂ -_:‘ —— - i
943 @ e -

2FB 943-H2T |3~ |615|723|307|490| 526 | 1201 | 646 |ST6 (291|219 135|201 56 |M5x40 |4 x M40x1. 5|54 |M12x10.5

ZPB 943-H3T [3~ |615|723|307|490| 526 | 1201 | 543|575 |291|219| 135|201 | 55 |M5x40 |4 x M40x1. 5|54 |M12x10.5
2FB 943-H47 |3~ |615|723|307|490| 526 [ 1201|908 |578|351|219| 135|201 |58 | M8x40 |4 x M40x1.5|54 |M12x10.5




T

g i

4PB/ 1AC (B4 SHHESRABSBMEESHTE (1P55 50/60HZ)

4PB /1AC

(Single double

impeller} Gas ring vacuum pump models and the performance parameters table (1P55 50/60HZ)

. B i iz BX Wi W
e . — = W B
s Pl TE ohE Bl HE Hi Heg i AEEA FE4E I A1
% Hz KW v A n3/h mbar mbar dB(A) Ke
50 0. hbH 200-240v e T | 47 -230 290 57
210 AT5 B 18
60 0. 63 200-240v 7.1 57 =270 320 62
50 1.5 200-240v 9.7 47 =370 600 5B
220 A5 X 30
60 1. 7h 200-240v 103 60 -420 660 62
50 0.94 200-240v 7.6 66 -250 350 57
310 A75 $. 18
60 1.1 200-240v 9 80 -280 390 62
h0 1.5 200-240v 9.7 65 -400 hh0 h9
320 ATS E4 32
60 3 B 200-240v 10.3 76 -390 240 h3
50 1.1 200-240v 10.1 87 -300 380 55
410 A4l <1 23
60 1.3 200-240v 1.3 105 -350 390 62




APB-1AC L NS ESERIMZ  /Vacuum compression type curve

Vacuum Selection diagram 50 Hz—R A EREE 50 Hz Compressor Celetion Diagram 50 Hz—E4EETEE 50 He
100 100
' w/h w'’/h
# 80 80
™~
T 60 60
3
% 21T a0
3 20 ~ 30
§ ‘g. i "'""-n.._-__ 1k
1 0 : : #h-?l 0
500mbar 400 300 200 100 0 100 200 300 400 500 600 700 mbar
Vacuum Selection diagram 60 Hz—RFEXEFE 60 Hz Compressor Celetion Diagram 60 Hz— 4B HEER 60 H=
120 120
t 5 L
¥ 100 — 5% 100
< e &
§ 80 = 80
= L~ N
g 60 i S 60
T ol =g — g [T N 40
. e LA | — T~ "-é BEG
i 20 = = - =i - [T 20
s 1 “Fq-——' 'Elra 1 PT
0 0

500mbar 400 300 200 100 0 100 200 300 400 500 600 700 mbar



Y

4PB/3AC (BRP)SHEBFREBMEESKE (IP55 50/60H2)

4PB /3AC (Single impeller) Gas ring vacuum pump models and the performance parameters table (1P55 50/60HZ)
Lk LB LN BE B
e k=] - B HE
PE AC W& % BEk: 3 sy e I HeR R HEKA K465
Modsl single | frequency power voltage current Max airflow rated Vacuum rated compress noises | Weight

double HZ KW v A m3/h mbar mbar dB(4) Kg
50 0. b5 200-240A/345-415Y 2.8A/1. 6Y 47 -230 290 a7

4PB 210 H16 i1 16
60 0. 63 220-275A/380-480Y 3A/L.TY 57 -270 320 62
a0 0.55 200-240A/345-415Y 2.8A /1.6Y 66 -250 250 a7

4PB 310 H16 <1 16
60 0. 63 220-275A/380-480Y 3A/1.TY 80 -260 250 62
50 0.81 200-240A/345-415Y 4A/2.3Y 66 -280 350 a7

4PB 310 H26 72 17
60 0.94 220-275A/380-480Y 4A/2.3Y 80 -340 360 62
50 1.1 200-240A/345-415Y 5. 4A/3. 1Y 87 -300 380 H8

4PB 410 H16 =< 23
60 1.3 220-275A/380-480Y 5. 4A/3. 1Y 105 -340 370 62
50 1.6 200-240A/345-415Y T.50/4. 3Y 120 =310 360 64

4PB 510 H16 B 26
60 2.05 220-275A/380-480Y T.64A/4. 4Y 145 -340 320 68
50 2.2 200-240A/345-415Y 11. 4A/6. 6Y 120 =310 470 64

4PB 510 H26 i1 29
60 2:hh 220-275A/380-480Y 11. 2A/6. 5Y 145 360 480 68
50 2.2 200-240A/345-415Y 11.4A /6. 6Y 165 =340 360 bh

4PB 610 H16 L) 32
60 2,85 220-275A/380-480Y 11.2A /6. 5Y 195 360 315 71
50 3.3 200-240A/345-415Y 13A/7.5Y 165 =340 480 65

4PB 610 H36 L) 35
60 3.8 220-275A/380-480Y 14.2A/8. 2Y 195 -380 530 71




S FEA B G e (1) A7 B2 )
@ &% M & X #

4PB 2 M EagERhes 3AC /Vacuum compression type curve

Vacutm Selection diagram 50 Hz—RZFEBEFR 50 Hz Compressor Celetion Diagram 50 Hz—EZEEHEE 50 Hz
200 200
I m/h m'/h
0
" 150 apgE1E 150
= |
> | 10| I~
Z 100 = - 2o e 100
2 ® i . i o4 T T2
S 50 3.83R.- 4 _+ o P HBs [N 10— T B2 3i3- 50
= - T 1 bd210 [4 iy N l : "0
0 — o B“-'ﬂ-ﬁi T 81 0
400 mbar 300 200 100 0 100 200 300 400 500 mbar
*Vacum(ﬁ-’a.fﬁi&) Total pressure differenceA p/ ¥ /E£Ap Vacuum (/£ 5 /JE )5

200 - 200

I m'/h H%r m/h
] )
7 150 S, 4 <] 150
= | -Z.Q '0"'-.\
- 100 — = —~3 - N 100
= LA = PRI | | TN N
3 254 |1 | S TN | T
? 50 ;2;;0 1.7 /:____,..-—:_._,..--: E?\TH:::FQEETL '--.\TZ L
7 0 lo. : 63 T I b.]630 B 2 0
400 mbar 300 200 100 0 100 200 300 400 500 600 mbar
- Vacuum (7= / 7 /&) Total pressure differenced p/ /& £Ap Vacuun[[ﬁf{l:’hl‘.)f-_)-




Bl

d

w2 B
\

1=
>

!

90

J

cgh

2

4RB 210-H16 |3~|294|319| 39| 87 [260|298|293|129|167|111|105]|252| 65 [124|G1, | 64| 14 | ¢ [140] 31 [105] 107 [M6x17|N25x1. 5|H16x1. 5| 32| 153|M6x15
4RB 310-H16 |3~|313|339]39| 94 [290]|325|295|153|177|120|105|256| 67 [130(G1,,, 64 | 14 | 4 |140] 31 [114]|116|Mex17|{N25x1. 5|N16x1. 5|32 |153|M6x15
4RB 310-H26 [3~|313[339| 39| 94 [290|325|295/153|177|120|105]|256| 67 [130]G1, .| 64 [ 14 | 4 [140| 31 [114]116[M6x17|N25x1. 5|H16x1. 5|32 |153|M6x15
4RB ¢10-H16 |3~|346|375| 38 |103[315|350|321|129(195|111|130]260| 66 (1431, | 64|14 | ¢ [140] 31 [125]|127 [Mex17|M25x1. 5|H16x1. 5] 32| 167 |MEx15
4RB 510-H16 |3~|368|395| 39 |114[328|363|361 /185|205 128|152|265| 68 [148/|G1. .| 64| 14 | 5 [140| 31 [137|138 [M6x17|M25x1. 5|H16x1. 5| 32|192|M8x15
4RB 510-H26 |3~|368|395| 39 |114[328|363|361|185|205|128|152|265| 68 [148|C1,,,| 64 | 14 | 5 [140| 31 [137| 138 [MEx17|M25x1. 5|N16x1. 5| 32|192|MBx15
4RB 610-H16 |3~|418[455| 39 |127[371|406|364/129|235|111|105]|271| 72 [172|c1,| 64| 14 | ¢ [140| 31 [153| 155 [MEx17|M25x1. 5|N16x1. 5| 32 | 228|M6x15
4RB 610-H36 [3~|418(455|39|127(371]|406|390|211(235|111|105)|271| 72 [172|¢1, | 64|14 | 4 [140[31 (153|155 [M6x17[N25%1. 5| H16x1. 5| 32| 228 |HEx15)




B MEAY Bh 3% (i) AT B2 W)
8 & £ & X #




4PB (NG/=8) SHEATHRE S RIERESHE (IP55 50/60HZ)

4PB f3AC (.double, three impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

-~ ¥ LikBE 2X WiE Bz e a8
TR pvEd FR ThE BBk HiE B HESE HTEA E48IE A1
Model double | frequency | power voltage current Max airflow rated Vacuum | rated compress noises | Weight
(s}

three HZ KW v A m3/h mbar mbar dB(4) Ke
50 0.81 200-240A/345-415Y 4A/2, 37 47 -370 490 58

4PB 220 H26 Fys 24
60 0,94 220-275A/380-480Y 4A/2, 3% 60 -440 480 62
R0 1.6 200-240A/345-415Y 7.5A/4,3Y 47 =370 650 h8

4PB 220 HS56 A 28
60 2. 06 220-2765A/380-480Y 7.640/4. 4% &0 -B00 740 62
50 1.1 200-240A/345-415Y 5. 4A/3. 17 65 -400 480 59

4PB 320 H46 X 29
60 1.3 220-275A/380-480Y 5 40/3. 17 76 -430 480 63
50 1.8 200—240A/345-415Y 7.5A /4. 3% 685 -440 540 59

4PB 320 HE6 Ful 30
60 2. 08 220-2765A/380-480Y T.BA /4, 4 76 —-hE0 600 63
50 1.6 200-240A/345-415Y 7.5A /4, 3Y 87 480 450 61

4PB 420 H26 X 33
B0 2. 08 220-275A/380-480% 7.8A /4. 47 105 -430 410 66
50 3:3 200-240A/345-415Y 13A/7.BY a7 =500 7h0 61

4PB 420 H56 X 39
60 3.8 220-275A/380-480F 13. BA8Y 105 =510 350 66
50 2.2 200-240A/345-415Y 11, 4A/6. 61 120 -470 450 64

4PB 520 H26 i 40
60 2. 55 220-275A/380-480¥ 11.2A/6.5Y 145 =500 450 70
50 4.3 345-4154A 9, A 120 -500 320 65

4PB 520 HT7 Py A1
80 4.8 380-480A 104 145 -530 310 71
50 3.3 200-240A/345-415Y 13A /7.5Y 165 -460 500 67

4PB 620 H36 A 43
B0 3.8 220-2754/380-480% 14, 2A/8. 2 195 —480 420 71
50 5.5 345-415A 124 165 -460 740 68

4PB 620 H57 Py 65
60 6.3 2380-4804A 11. 5A 195 -480 340 72
- 50 7.5 345-415A 164 170 =730 1040 72

4PB 630 He7 = 86
&0 8.6 380-480A 16A 200 =700 1040 76




F FEA Y 3% il ( i) AT R W
| B B & X

Vacuum Selection diagram 50 Hz—E ZTEZIEE 50 Hz Compressor Celetion Diagram 50 Hz—RAEEZER 50 Hz

i!‘ 200 200
ni'/h m'/h

% 150 m 150

¥ 1

: -

Z 100 - - _ 100

= |t o=t

§- 7_{ 56(3 3 5|5

f $350 zq/ - & a3 =

2 ) :

T ¢~=

= 0 | a5l | . =25 0

800 mbar 600 400 200 0 200 400 600 800 1000 1200 mbar
Vacuum (A% / i /&) Total pressure differenced p/&/E %A Vacuun (253 / E/E)

Vacuum Selection diagram 80 Hz—RFFEZIEFE 60 Hez

200 200
1 ni/h m'/h
® 150 - 150

[
g i ~ i 6
= 100 o 100
o L]
: . Wi
|
- 50 = S s 50
- N k 0% = 18
3 & ) 0
17 0 < . 1 = 1 : 0
800 mbar 600 400 200 0 200 400 600 800 1000 1200 mbar
- Vacuum (£ £/ i /) Total pressure difference\p/ &/ 2Ap Vacuum (/& ?‘iff-l&).‘




T

7 1

4PB R RHERT / Two stage mounting dimensions

4FE 220-H26 [3-~ |313|326|359|43|260(298|469 (130 (16T |272(111[105|426(241|123|G1,,, |64 | 14 [ 4 (140 31 | 105 | 10T |MB=1T| M25x1.5 [M1Bx1.5|32
4PB 220-HS6 [3~~ [313|326|359|43(260|298|525 (185|167 |272(128| 105|426 (241|123 | 61 (64| 14 | 4 | 140 | 31 | 105 | 107 [MBx1T| M25x1.5 ([M1Bx1.5|32
4PB 320-H46 |3~ |331[345|380[47(290|325)| 390|153 [177[291 [ 120] 105|431 |243| 130 Gl |64 | 14| 4 | 140 31 J 114 [ 116 |MEx1T[ M25x1.5 |M1Bx1.5|32
4PB 320-H56 |3~~~ |331[345|380[47(290|325]| 421|185 (177|291 [ 128 105|431 |243| 130 GLl, |64 | 14 | 4 | 140 31 | 114 [ 116 |MBx1T| M25x1.5 |M16x1.5|32
4PB 420-H26 [3~ 363 |377(414|52(315|350|529(180|195(319|128|130|436 (243|143 |G1,,, |64 14 | 4 [140| 31 | 125|127 |M6x1T| M25x1.5 [M16x1.5|32
4PB 420-H56 [3~ |363|377(414|52|315(350(554 (211 |195|319|128|130|436|243| 143 |Gl |64 | 14| 4 [140| 31 | 125 (127 |MBx1T| M25x1.5 |M1Bx1.5|32
4PE 520-H26 [3~ |387|402|435|57 |325(363(549 (185|206 | 343|125| 152|453 |256| 148| 61 [64| 14 | S [140| 31 | 137 [ 135 |MEx1T| M25x1.5 |[M16x1.5|42
4FE S20-HTT [3-~ |387|402|435|57|325(363|603 (211 (206|343 (148|152 | 453|256 145 | G1,,, |64 | 14 [ S [ 140 | 31 | 137 | 136 |MEx1T| 2xM32x1.5 [M16x1. 5] 32
4FE 620-H36 |3~ [442|457|495|63|372 (406|575 | 211 | 236|389 | 128|152 455 (259| 173| G1l.« (64| 14 | 5 | 140 | 31 | 155 [ 155 |[MBx 17| M25x1.5 |[M1Bxl. 5|42
4PB 620-HST7 |3~ |442/457[495[63[372|406|643|245(236 (389148152 |458|259| 173 GLl. |64) 14 |5 | 140 31 | 153 | 155 |MBx1T[ 2:xM32x1.5 |M16:x1. 5] 42




B B0 2 M 1) 47 B2 )
6 8| B B & X

4PB-630 Eﬁ RERT / Three stage mounting dimensions

4RE 630-0AHBT-8 | 3~ | 442 [ 402 | 492 | 63 | 371 [406 | 717 | 274 | 236 [ 389|152 | 539 | 336|172 |CG1,,,| 64 | 14 | § | 146|153 |M6x17 [N32x1.5| 42 [120




T

5% ¥

2PB 213-1HY99 ¥ L 4R

2PB 213-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
- FeiE [= Ry BRIE BAET BAET e EE
’ PR KW M3/h abar whar db (A) Kg
3000 (e 80 -130 130 53
3600 0. 83 100 -160 160 56
A 5.5
4200 0.95 120 -170 170 60
5000 1.1 140 -180 170 62
' 150 _ 150
— OO O pm
;Szgg::g: / \\
- 120 —kd /..-— ~~——— 120
2 90 — — = —1 90
'g 60 | i B, i 60
g 30 - - e ~ ] __ 30
_‘g !d-"" e \\ e —"
200 150 100 5() 5 150 150 200
Vacuum (E %) Total pressure difference ApEJIEZE AP Pressure ([E ) =—e—




SF FEA% B 3% il ( i) A B2 n)
f 8 5 M & X #

2PB 223-1HY99 ¥ K dh £k

2PB 223-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
55 iR BLEThE =ATE HART A & - ¢
PRM KW m3/h mbar mbar db(A) Kg
3000 0.7 85 210 240 55
y 3600 0.83 102 —260 290 61 g
4200 0.95 128 -290 280 64
5000 1. 150 =220 230 66
| 200 - 200
4200rpm
S5UUr pia
2 160 r—r0 e g 160
£ 120 - B AT N | 120
2 80 ” /’ t*“"'--. ' | 80
§ 40 | — — 40
p—— ——
rﬂ - e e
400 350 300 250 200 150 100 50 0 50 100 150 200 250 300 350 400
Vacuum (=) Tolal pressure difference ApRlEE AP Prossurc (JEH) =——a=




T

8
2PB 233-1HY99 B¥ % £k 2PB 233-1HY99 parameters and the curve
NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
e LISt A E Ih R AN E BAET AT R £E
’ PRY KW w’/h ubar ubar db (A) Kg
3000 0.7 105 -120 140 54
3600 0.83 120 -160 180 57
A 7
4200 0.95 140 220 230 60
5000 1 1 170 210 190 63
{200 200
. 420050
£ 160 = |l o | 160
B 2200rpm / \
= 120 <] T 120
S 1 A L N |
05 . _.,/ m“-\,\. >____.--—

300 250 200 150 100 50 0 50 100 150 200 250 300

Vacuum (E %) Total pressure difference ApREE AP Pressure ([E}f) —e




SF FEAY Bh % i ( L ifg) A7 B2 n)

f & 5 M & X
2PB 413-1HY99 Z¥ K 2R 2PB 413-1HY99 parameters and the curve
NO Rated Speed Rated Power Max air flow Max wvacuum Max pressure Sound-Level Weight
. HiE MEEIIE BmARE BAAET = A&7 % & Eg
PRM KW M3/h mbar mbar db (&) Kg
3000 0.85 150 -160 160 63
" 3600 0.95 180 -160 160 64
4200 1.3 220 180 180 68
5000 1.5 250 -140 130 74 _
3000 1.3 150 -170 200 63 -
. 3600 1.5 180 -210 200 64
4200 1.75 220 -210 190 68
5000 LA | 250 =190 190 74
{ 250 250
2 200 H—pmc== — g 200
= 150 2/ / l 150
5100 B 100
50 ——T— =
¥ M
300 250 200 150 100 50 O 50 100 150 200 250 300

Vacuum ¢BL*5)

Total pressure difference ApfiHszZ AP

Fressure (FBE77) ———




T

B ME

2PB 423-1HY99 S¥ % M4k

2PB 423-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
L2 ES =Bk B BRKHT BKEN st B
Hs
PRM KW m'/h mbar mbar dh(A) Kg
3000 o e 160 -330 440 66
3600 2.55 190 -350 420 69
A 13.5
4200 3 230 -420 400 72
5000 3.8 260 -380 330 77
300 300
250 o . 250
oy il 000 pm =l e
= 2200r pm \
% 150 — | e . 150
b3 ' |~
P s — ~=l1 50
e
500 400 300 200 100 0 100 200 300 400 500

~—t———  Vacuum (FE.ZF)

Total pressure difference ApREZE AP

Pressure ([T F]) m——




S MEAE B 3% o ( L) AT B2 )

f 8 8 B & X #
2PB 433-1HY99 Z3¥i % M4 2PB 433-1HY99 parameters and the curve
NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight

g 2 HiE FEEIHE =AHE RREZT RKREA I & ER
=)
PRM KW m/h mbar mbar db (&) Kg
3000 153 180 =180 200 64
3600 1.5 210 =210 240 65
A 8.5
4200 1. 75 255 =240 230 69
5000 2 1 300 -180 170 75
| 300 _— el Tl | 300
Z 250 e s 250
B ——2200rpm
= 200 /of’ -4 > \Q{\ 200
g 150 / I \ 150
8
T 100 % ,,/‘/ \\\ 100
) 50 N o o ~ A\ 50
300 250 200 150 100 50 50 100 150 200 250 300
Vacuum (E.Z) Total pressure difference Ap&JEZE AP Pressure ([EH) —=




2PB 513-1HY99 2% % HiZk 2PB 513-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
e iR = R RAE RAET BRAEN B & HE
i PRM KW M3/h mbar mbar db (A) Kg

3000 1.3 210 -170 170 64
A 3600 7 255 -150 140 70
4200 1.755 300 -130 100 72
5000 21 350 =70 60 75
3000 1.6 210 =200 190 64
B 3600 2.05 255 220 210 70 1
4200 23 300 -180 170 72
5000 2.6 3560 -130 120 5
3000 2.2 210 -220 270 64
C 3600 2.55 255 —260 290 70
4200 3 300 —-300 270 T2
5000 3.8 350 270 240 %5
500 500
| e E
= 400 == T 400
‘E:_; —20 0rpm
2300 == ﬁ;-;f"’” NER 300
¢ 200 o Lt T g o 200
s /” //' ,,ﬂ”” _““h“"“-. -
. T L (T L s e e
£ 100 e =y 4 3 : 100
i —
400 350 300 250 200 150 100 50 0 100 200 300 400
Vacuum (E %) Total pressure difference Ap@REZE AP Pressure ([EF# ) ——




S FE S B 5 A 1) A7 B2 ]
8 5 B & X i

2PB 523-1HY99 B K L% 2PB523-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
e iE ALE =2 = K i = mAKREE =KXEA I 5
2
PRM KW m3/h mbar mbar db(A) Kg
3000 5] 230 -340 410 72
P 3600 3. 45 275 -380 360 74
4200 4.3 320 —340 300 78
5000 5 380 =300 240 83 o1
3000 4 230 -390 440 72 -
3 3600 4.6 2Th —410 480 74
4200 6 320 -440 480 78
5000 6. 9 380 -460 410 83
500 500
| — ]
o 400 == 7 400
2 200 %7?‘ 300
o5 »--""-‘--
o, 200 P Ya —— 200
= ﬁ rol // P T g
£ 100 — S;.—fﬁf - 100
Ei: ‘\\ —— _.,.w-""r."
400 350 300 250 200 150 (00 50 0 LOO 200 300 400
——— Vacuum (E.4) ToLal pressure dillerence ApBIEZE Al Proasure ([FE 7)) —e—




2PB 533-1HY99 S¥ &% 2k 2PB 533-1HY99 parameters and the curve

Vacuum (E &)

Total pressure difference Ap&EEZE AP

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
& ok ACEIH WA E BRAEAD A ST W & |
N PRM KW m3/h mbar mbar db (A) Kg

3000 22 270 -220 230 65
3600 2. Bb 330 -260 250 71
A 12
4200 3 390 ~270 250 73
H000 3.8 460 =230 220 76
500 500
———ra P B e
—. 400 S /f_.-f — 400
‘E — [ —
3 300 1/>,~/ \Q{ 300
200 (’ e M\R—-.‘..\ 200
S e T~
5 100 —\ e 7 100
;)g T ~— | ~__
300 250 200 150 100 50 50 100 150 200 250 300

Pressure (JE 77) =




M B 3 e Lt ) A7 B2 ]

f

I A

2PB 613-1HY99 ¥ & £k 2PB 613-1HY99 parameters and the curve

NO Rated Speed Rated Power Max alr flow Max wacuum Max pressure Sound-Level | Weight
- HiE FEEIh=E =AME BEAET &= AE R =8¢
PRM KW m3/h mbar mbar db (&) K
g
3000 2.2 265 -220 220 65
. 3600 2.55 315 -250 240 71
4200 3 400 -240 250 73
5000 3.8 480 -180 190 76 "
3000 3 265 -260 250 64
. 3600 3.45 315 -280 280 70
4200 4.3 400 =270 280 72
5000 5 480 =220 220 75
200 200
000 xpm
4200rom \
_ 400 e AP ==y H—s 400
= 2200rpm
£ 300 //Oj E ﬁ\ 300
£ 200 7 s \\—-\ 200
(;:) ( g(/ -Pﬂ_f_ﬂ-—#”' ““-a..__ﬂ_h__‘-‘-ﬁ-‘_
2 ].OO N—"__ ] —— S ——— 100
5
400 300 200 100 100 200 300 400
~—~a—— VYacuum (E %) Total pressure difference Ap&EEZ=E AP Pressure (JE 1) =




2PB 713-1HY99 B % MLk

2PB 713-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max wvacuum Max pressure Sound-Level Weight
P il ACE T RAME RAHT RAEN ] HE
PRM KW m3/h mbar mbar db (A) Kg
3000 2.2 320 -190 190 69
3600 2. 55 380 -190 190 72
. 4200 3 440 —160 160 75
5000 3.8 530 -130 130 80
3000 3 320 -260 270 64
B 3600 3.45 380 -240 230 70 16
4200 4.3 440 =270 220 72
5000 5 530 -220 210 75
3000 4 320 =290 360 64
. 3600 4.6 380 -320 310 70
' 4200 6 440 —340 300 72
5000 6.9 530 -300 270 75
600 600
T doopom
S600rpm / ‘-\\
500 5 T T 500
400 400
21/ el N
300 %/?P" 7 ST 300
200 | =7z —F Y 200
Lo X AN
100 b, ol e >l 100
500 400 300 200 100 0 100 200 300 400 500

Vacuum (ELZE )

Total pressure difference Ap R =E AP

Pressure (JEFH ) —e=—




S W Th G e (L) A R 2 vl
f 8 B M & X #

2PB 723-1HY99 S8 X HHZ 2PB 723-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
we i EEThE BRI E RKXEZE ®KREHR 3] H=E
PRM Kw n'/h mhar mbar db(4) Kg
3000 4.3 320 =360 380 73
. 3600 4.8 380 -350 320 75
4200 6.3 440 -310 300 78
5000 6.9 530 —240 200 84
3000 5.5 320 —420 500 73
B 3600 6.3 380 —440 500 75 29
4200 -5 440 =440 420 78
5000 8.8 530 —440 350 84
3000 7.5 320 —440 570 73
c 3600 8.6 380 —460 660 75
4200 10 440 —460 600 78
5000 12 530 —460 410 84
600 600
' q%hg: JEapm—
. 500 b 1 1 q - 500
:';:; 2200rpm 2
2 400 " )r{ pi 400
o - e
- 1
% 100 -
—= 100
750 600 450 300 150 0 200 100 600 800 1000

Vacinm (E&AE) Total pressure difterence ApEEZE AP Pressurc (E /1) ——




T

5 ME

2PB 733-1HY99 Z¥ % £k

2PB 733-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
. i A-RNES BXRE BRRAZT RKIE B EE
PRI KW m’/h mbar mbar db(4) Kg
3000 g 420 -180 170 70
A 3600 2.55 500 -160 150 3
4200 3 580 -140 130 76
5000 3.8 660 -120 120 81
3000 3 420 220 200 70
B 3600 3.45 500 -200 170 73 18
4200 4.3 580 -180 170 76
5000 5 660 -150 150 81
3000 420 -260 290 70
C 3600 4.6 500 -260 260 3
4200 6 580 -260 260 76
5000 6.9 660 -460 240 81
S00 = S800
L 700 k- — 700
%5 | - .
: 600 N ~n 600
£ 400 3w’/ 7 \ 400
£ 300 / / — = — \ 00
200 w4 | T R e - sy N_l200
100 —-———‘é\, s — \4\5 7\ 100
300 250 200 150 100 50 O 50 100 150 200 250 300

Vacuum (ELZF D

Total pressure difference Ap&EFEE AP

Fressure (& #3) —e—




S FE A B 3% A (1) A7 B2 ]
8 8 5% M & X #

1HY99 B4

1HY9S single-stage pumb Dimension

N —
'-.:'- | P— —
b ‘ X ) —
} 5| e
T H| ox— e -
' ] N o ![. :
J_ | T \
1 i
B =¥ e * I
= 1 == Y. ] J
- :1 = < . f
rl ; : g )
] s ~20—
\ E— ~

-1

2PB 213-1HY99 | 246|240 ) 90 | 157 [125(230| 89 |211|125| 40 | 14 (140 51 | 43 | 2 | 24 [ 40 | 8 | 20 | 128 | M6X15 | 140
2PB 233-1HY99 [ 246|240 | 90 [ 157 |125)|241| 89 211 )|125| 40 | 14 |151| 51 [ 43 | 2 | 24 | 40 | 8 | 20 | 139 | M6X15 |140
2PB 413-1HY99 | 286 | 300 | 115| 157 | 125[240| 108|233 | 148 | 45 | 14 [143| 53 | 43 | 2 | 24 [ 40 | 8 | 20 | 130 | M6X15 |174
2PB 433-1HY99 | 286 | 300 | 115 | 157 [ 125 [ 256 | 108 | 233 | 148 | 45 | 14 [159| 53 | 43 | 2 | 24 [ 40 | 8 | 20 | 146 | M6X15 | 174
2FB 513-1HYQ9 [ 334 | 324 | 120 [ 177 | 140 | 297 | 127 | 268 | 169| 65 | 18 | 169| 60 [ 44 | 2 | 28 | 40 | 8 | 24 | 156 | M8X20 |200
2PB 533-1HY99 | 334 | 324 | 120 | 177 [ 140 (316|127 | 268|169 | 55 | 18 [188| 60 | 44 | 2 | 28 [ 40 | 8 | 24 | 175 | M8X20 | 200
2PB 613-1HY99 | 360 | 358 | 122 | 177 [ 140 [ 318|135 281 | 183 | 55 | 18 [175] 60 | 44 | 2 | 28 [ 40 | 8 | 24 | 163 | M8X20 | 226
2PB 633-1HYS99 | 360 | 358 [ 122 [ 177 | 140|336 135|281 | 183 65 | 18 [193| 60 | 44 | 2 [ 28 [ 40 | 8 | 24 | 181 | MBX20 [226
2PB T13-1HY9Q | 382 | 382|125 | 177 [ 140 (333|144 1292|194 | 55 | 18 [182| 60 | 44 | 2 | 28 [ 40 | 8 | 24 | 169 | M810X20 | 240
2PB 733-1HY99 | 382 1382|125 177 [ 140 (3431441292194 | 55 | 18 (192 60 | 44 | 2 | 28 | 40 | 8 | 24 | 179 | M810X20 | 240




1HY99 X FER

1HY99 two-stage pumb Dimension

A b 0
D ]
& R (8, B
' b
~d i
3 Bl 120°
7 P x
L ] o \
B } 28 e |
9"4. qﬁ g N /
< P
B~

OPB 223-1HY99 | 285 [270 | 45 |157 (125|288 | 89 |214|128| 40 | 14 | 217|106 |199| 51 | 43 | 2 | 24 | 40
OPB 393-1HY99 | 297 [289 | 46 |157 [125 302 (100 | 227|141 | 40 | 14 | 323|114 |209| 51 | 43 | 2 | 24 | 40
9PB 423-1HY99 | 322 [315 | 58 157 [125 | 316|108 | 240|154 | 45 | 14 | 322|153 |219| 53 | 43 | 2 | 24 | 40
2
2

20 | 42 | 186 | MeX15 | 140
20 | 46 [196 | NEX15 |160

207 | NeX15 [174
24 | 55 | 241 | M8K15 | 200
24 | Tb | 265 | N10X15 | 240

2PB 523-1HY99 | 371|361 | 60 177|140 383|127 | 275|175 | 55 | 18 | 411 [145|255| 60 | 44 28 | 40
2PB T23-1HY99 | 426 [ 421 | 63 [177 140|429 [144 [295[197| 55 | 18 | 426|162 [ 278 60 | 44 28 | 40

O | CO | 0O | CO | O [
o
Lo
[1=%
L]




=&




Tl sz R ZRB (=R )

o AR RE HR WA Hnx [

B 57 28 5 83 AR

&ERAH ( 2.000mmaq ) 2HHRE |
TR B2 ERYLAHH

A& -
HEETSHASERE , nEmn
R, mES TAESkaeE

R (R

BHESERNEX

R ERACKE AR T |
EATAERW

BiE

WS e 4 Wi AR A

DE MBS B 2 Bk

O e

[ g - 't'e':&
Eipeah | HRgRmE | HEHEK
JAFKFT |, A RAEHR | RS

HESRIA

I HAS ARG | SRiEsls R

FRAZEST

BB B8 AR B B BRI 0 g
FeFndedn

FENEER Tha

f&ﬁ =
A / g

P

A P
i ,E\.\\ _z"

iﬁ?

BENES  BEEY

F 80 e e [ AF

£ ! 28 1 T 18

EE TR TR




Application example use for blowing

® Blow hoover exhaust cool transport air cushion

The gas and heavy Wash the baltle machine Can collect all the bils It is dry to use the Air cushion
oil gush out firng and dries up automatically after cut the Paper air knife 5
driaz up tha oa-sr
dhevlel al b= |Il oy t:‘d;t:b:lﬁbh
ail muler ." u-u-tg bottlas - knife
5 Ihe circuil bave 5
%:: "?'\',ﬁi rﬁ, pulle of dusl i i
. _Iéﬁll-_-_ drap of waler | i pa_per AU, PO
v high-pressre air 2 y /
k pr inled
X | cireunit board A .
fule — i ﬁ "--.:LI L=
ﬁgh L':';ss":t.air_ ( zg’fﬂc;om';aq] Beverage bottle washing will drp dry, | . S S The circuit board can be used to blow S st
0S5 SEPURSCEREEL raqgse | your Applicable to the foed industry o l°'|"a§ i il a small blower Dust and debris T m——
dependence on compressor plastic, cloth, paper cutling edge

The domestic animal excrement Subpoena fransport The %ﬁﬂ%mﬁhqmd Th%?ggiﬁ:gﬁgf Al Puncher machine

fermenis'fieceness gas
examing air pumsz )
' air pumg .
2 BIT pRATD
F ;t 1] malding pr?du:t
u&d.aiu - i %
NNl s
i

'_|" f n -

saw-dush csshiar atfica

or rice husk~""f

alr pumy P
dischanging Poles ' m[p!

| aloctrelytic

4] trough
High pressure air s blown intcthe
Storage fecal groove, increase the trough, make the electrolyte circulate, nater in the pool .
contact area,and also suitable Lregands air as metive force to and repel adhering to the bubble and make - oon::ntenftttollz:akpmisnpmﬂuud
electroplate rapadly, the resuits is even. he exhaust gas blowssmaoking ng shape aier e

for polluted wastewater treatment

Powder body transport i The exi:::;;:iﬁzs biows Wash the car and dry up Print and force dryness

air pung

a ta‘.sl & '-'..'
.'\ \-’ -
= =7 gontrel valv

g —

COMEress air sproy heed

discharging rapidly by the scattered
Power body grains of body,eic, AT SN Lty THEES TR0 AARRY- BRI R exhaust gas that appears,so as net to blow the moisture contmiie dry after
air of raw materials transport cause pelution having car machine washing enakling the printing colorto dyrfast




T =R (R )

o XK A HR VE Wik KRB

PO RIED Rl B s

SRR SIREL

LRk

FRAE IR

g TR B

FAREEHBERE , BRI RAFL

EN ol % 75

LK

Yo
RiEpl R EAAED | T RE A
Fed  REEEREE

Tl g

‘ fH FWAA Fik

<B4

\
I

FASTEE HREPER  F2FiE &
RS Tl

P AL

S9E u;‘hﬁt‘ dewi
W22z N
P
T T W itk
7 T 2 |

4 |1
RSN TS , FEHL B ' i

FRBEEEDBHIANA | BAXSWE  EERMKSER | AR DRSFEENECERR | EREZBERE EACHRRSER

B RS R I | AR R
3

A L s R

A I G HAAR Eot i 2 &0 327 4h 2




Application example use for

indraft

® Blow hoover exhaust coocl transport air cushion

The sucking of the printing

machine of entwork edition

Eject the exhaust gas and
dust produced while weldingdrawing

The wesve cottom machine
suck silk

Photo - engraving

The powder body transports

The sorption pressure fixed, in
order to facilitate the printing
operation

ar pump

suck oyl inder
Vacuum sorption printing or tissu
e formation to
Ox milk paper carton
filling machine

o~ filter of masto gee
MEp-pumy < filter case
7 blast pipa
?
;o F weleing red

Smoke and dust whenwelding
vacuum mode rowto the operator.
ensure health

Industry hoover

Factory always serap residue onthe
maching, can smoke collestion

Bean curd machinery

@ir pLyYp

Absorbing moisture and Fixed |ine,

improve the guality of efficiency

= Sguwain cloth

.‘.Ial‘ st mesler
sszrefats 1 2ir

The pulp dehydration dehvdration
dehydration, pollution, cloth

Keeping processing

SN il

NN

Using vacuum suction force
protection film make flat,
le for gravure

suitab
industry

Iake books machine

;/,.7?,1/?'_4.-//?7 e
7, 7 0 _ l_1'—
. ooabki e B 1t T e M E:J:-. air pump dath £ 10 -
air Dunp “oreaking oo
8. Lol | e
A ) - tuinal \— oL
2 "*1.51 "15-;/'*:%',- 2z BB il
¥l 2l
Vacuum milk box filled with Draw soybean delivery. to the Ylood, plastic and other non Tunne| with small work site. dust,
the attraction cleaning tank cleaning — magnetic objects fixed with poisonous gas, partial removal Press cloth will emit vapor

ulw

Plastic materials and other
granular objects, by blowing or
sucking to transport

Incomplete cloth deal with

Cloth cutting processing cutting
cloth

Iron cloth machine

oil presan e devioe




flddaaapir!

- —

EETEEEER BT RER T EHE
021-39948832 39948836

FH8:13701956498

f E: 021-39948836

% EMBBAR: 400-8040-668

fAEHEH0Q: 400-8040-668

Bi§H: fhtafht. tw

#ht: www. fht. tw




	锋桦风机样册_页面_01 副本
	锋桦风机样册_页面_02 副本
	锋桦风机样册_页面_03 副本
	锋桦风机样册_页面_04 副本
	锋桦风机样册_页面_05 副本
	锋桦风机样册_页面_06 副本
	锋桦风机样册_页面_07 副本
	锋桦风机样册_页面_08 副本
	锋桦风机样册_页面_09 副本
	锋桦风机样册_页面_10 副本
	锋桦风机样册_页面_11 副本
	锋桦风机样册_页面_12 副本
	锋桦风机样册_页面_13 副本
	锋桦风机样册_页面_14 副本
	锋桦风机样册_页面_15 副本
	锋桦风机样册_页面_16 副本
	锋桦风机样册_页面_17 副本
	锋桦风机样册_页面_18 副本
	锋桦风机样册_页面_19 副本
	锋桦风机样册_页面_20 副本
	锋桦风机样册_页面_21 副本
	锋桦风机样册_页面_22 副本
	锋桦风机样册_页面_23 副本
	锋桦风机样册_页面_24 副本
	锋桦风机样册_页面_25 副本
	锋桦风机样册_页面_26 副本
	锋桦风机样册_页面_27 副本
	锋桦风机样册_页面_28 副本
	锋桦风机样册_页面_29 副本
	锋桦风机样册_页面_30 副本
	锋桦风机样册_页面_31 副本
	锋桦风机样册_页面_32 副本
	锋桦风机样册_页面_33 副本
	锋桦风机样册_页面_34 副本
	锋桦风机样册_页面_35 副本
	锋桦风机样册_页面_36 副本
	锋桦风机样册_页面_37 副本
	锋桦风机样册_页面_38 副本
	锋桦风机样册_页面_39 副本
	锋桦风机样册_页面_40 副本
	锋桦风机样册_页面_41 副本
	锋桦风机样册_页面_42 副本
	锋桦风机样册_页面_43 副本
	锋桦风机样册_页面_44 副本
	锋桦风机样册_页面_45 副本
	锋桦风机样册_页面_46 副本
	锋桦风机样册_页面_47 副本
	锋桦风机样册_页面_48 副本
	锋桦风机样册_页面_49 副本
	锋桦风机样册_页面_50 副本
	锋桦风机样册_页面_51 副本
	锋桦风机样册_页面_52 副本
	锋桦风机样册_页面_53 副本
	锋桦风机样册_页面_54 副本
	锋桦风机样册_页面_55 副本
	锋桦风机样册_页面_56 副本
	锋桦风机样册_页面_57 副本
	锋桦风机样册_页面_58 副本
	锋桦风机样册_页面_59 副本
	锋桦风机样册_页面_60 副本
	锋桦风机样册_页面_61 副本
	锋桦风机样册_页面_62 副本
	锋桦风机样册_页面_63 副本
	锋桦风机样册_页面_64 副本
	锋桦风机样册_页面_65 副本
	锋桦风机样册_页面_66 副本
	锋桦风机样册_页面_67 副本
	锋桦风机样册_页面_68 副本
	锋桦风机样册_页面_69 副本
	锋桦风机样册_页面_70 副本
	锋桦风机样册_页面_71 副本
	锋桦风机样册_页面_72 副本
	锋桦风机样册_页面_73 副本
	锋桦风机样册_页面_74 副本
	锋桦风机样册_页面_75 副本
	锋桦风机样册_页面_76 副本
	锋桦风机样册_页面_77 副本
	锋桦风机样册_页面_78 副本
	锋桦风机样册_页面_79 副本
	锋桦风机样册_页面_80 副本
	锋桦风机样册_页面_81 副本
	锋桦风机样册_页面_82 副本
	锋桦风机样册_页面_83 副本
	锋桦风机样册_页面_84 副本
	锋桦风机样册_页面_85 副本
	锋桦风机样册_页面_86 副本
	锋桦风机样册_页面_87 副本
	锋桦风机样册_页面_88 副本
	锋桦风机样册_页面_89 副本
	锋桦风机样册_页面_90 副本

